Guess paper
Annual 2024

HEMISTRY




CHEMISTRY 10¢th

Guess Annual 2024

Q1. Choose the correct answer. (D :.-»fu:.q_,ﬁ:.-‘ul.?;ﬂk. 1Ay
1. When a system is in equilibrium, then: e b /J { -Erf"’ Lz 1
D) wtbsfznec ki (C) ) (B} {A]
.1'_|:*Lvrflf._ul§f}’lu oo The rate of reverse reaction b=/ (Uogiusi b /’figghajlﬁ' r;';.,,fj/-/fup Sag
The rate of forward and is very slow | * U f—d'ﬂ
reverse reaction becomes The opposing reactions stop _Concentration of reactants
equal andproducts becomes
equal
2. In dynamic equilibrium: {0 ;Juﬁfﬁ,éd:tﬂ_fl:fli 2
e Ut 5160 (D) C) . WB) ) Sz LT (A)
The reaction can no longer f—t‘wu_-:.JE’.J‘{ (Saagantink Oralal s § U 0 S The reaction stops to
be reversed The rate of forward and y J proceed
reverse reaction becomes  The-quantities of.reactants
equal and preduets.becomes
equal
3. In an irreversible reaction, dynamic equilibrium: o /,Jd;ﬁ_fﬁig.‘: S 43
.;t‘LFﬁFE'A?.:f;: (D) r:'_E'Kljb-.ﬂfij_ﬁuL;;}fg'J; (C) "y B} E*f._jfrf'ﬁ'ff{ﬁt]
Establishes readily Establishes aitenthe “wf"u el vy Never establishes
completion‘ef reaction Establishes before the

completion of reaction

4. Reverse reaction is: e m 321 ISasds 4

e txz Gz (D) cPeIEA2 () £, B e bl e iz (A)
Which gradually speeds up ~ Which graﬁmallyr slow down J"ha«;if:ff'dsw"ﬁ-'dwfu' Which takes place from left

Lt to right
In which reactants react to J

form products

5. In the lime kiln, the reaction J ,,wjbﬁf L}._ 2 CaCOS[ = Ca0y+ COyy 1 0
CaCOjy(5) = Caby,) + B0y T goes to completion

because:

Sl FG

(+426Ca0 (D) txif §C0O, (C) ) (B) High temperature £z .. (A)
CaO0 is not dissociated Constant release of COy  tx¢° w1:8Ca0=+/JCaCOs
Ca0 is more stable than

CaCO3

6. In a chemical reaction, the substances which react :u;?&u{;uﬁ&f;ffl d;uiﬁfwﬁpt!fﬂd;u@:iﬂ 6
together are called:

Numerator % -+ (D) Equilibrium ¢ Zs5£1 (C) Products 4., (B) Reactants =~ ||,,JJ (A)
7. Plants use ........ for photosynthesis: :U;IE.IJH‘“I.;'-L?:‘V“/ :'f.;.:{; g
Sulphur- 2~ (D) Nitrogen &7t (C) Oxygen P (B) 2T 05 (A)
Carbon dioxide
8. The color of iodine is: e b kKidT 8
Green i (D) Purple & (C) Yellow i, (B) Black v&'(A)
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9. At equilibrium state, there are possibilities: ?g&@f Lf’{pf Sl ,,JLE,Q 9
Five &4 (D) Four .t (C) Three ¢ (B) Two » (A)
10. The color of Hl is: 1« EHI 10
Colourless .. (D) Red L ~ (C) Purple ! (B) Orange &.» (A)
11. The substances which are formed during a chemical :L,gﬁi*-um;iﬂndg SEERON |
reaction are called:
Elements u’"rj:*' (D) Radicals :£4. (C) Reactants m'“"'éuuh (B) Products f},,; (A)
12. Reversible reaction is represented by: e bl ﬁwﬂf{ RINOITIN Y.
= (D) 2 (C) < (B) - (A)
13. In the beginning, the rate of reverse reaction is: :,h;.n»:.;.,_—..aﬁf{ WSSl 7 A3
Slow =T (D) Very fast = =« (C) Moderate -i-.: (B) Less # (A)
14, What will be present in the equilibrium mixture?

— o6 Nyig)F3H,(g) = 2NHy ) sz 2y L2 sk 4
Ny +3Hy ) = 2NH5 ) K,=2.86mol “dm K = > 86mol~2dm®

Only H, (D) H, and N only (C) NH; and Ho/N5 (B) Only NH; (A)
15. Molar concentration is represented by: ‘ /4 :a'i‘_.t‘%y,ﬁw;p&{?; o 15
All (D) () (C) [1(B) {}(A)
16. Guldberg and Waage put law of mass action in: :‘L;"“Jf;é_.@,uri—;;’.bf ST 16
1889 (D) 1879 (C) 1869 (B) 1859 (A)
17. Who presented law of mass action? o U:# J_JEJ'E’ UbTe AT
Moselay L.+ (D) Rutherford/.és. (C) Guldberg /-2 (B) Dalton oi; (A)
18. The units for molar concentration are: 2SI L F Jo A8
moldm™ (D) moldm?® (C) mol”'dm?® (B) mol”'dm™ (A)
19. The specific rate constant of forward reaetion Is
represented by:

et E;:LF i}:-&t'j.rr!:.:;uﬂr‘? L u’fgf St 19

kp (D) ke (C) ke (B) ke (A)
20. K. is equal to: e 412K¢ .20
K, Kr o ke ke o
" (D) k, (€) K, (B) k (A)
21. The value of K in equilibrium state is: e drbs Kot o S 8 21
Ry o K, Kr o Ke
R,” E{C] Kr(} K_f{]
22. For a reaction between PCl3 and Cl; to form PCls, the a1 Kot S8 £ 8t PClse ClysiPCly 22
units of K. are:
moldm® (D) mol”'dm*® (C) mol”'dm™ (B) moldm™ (A)
23. Which of the following equilibrium expression is correct .~ fe—=u S sl S E Ak sufd Lhotios 23
for the following reaction? Nz( a) + 3H2(g} = ZNH?}(Q}
No(g) +3Ho(g)=2NH 3 g
[NE][H2]3 [NHa]E [NE][ZHE] 2".""'rHE]
,~ (D) — = (C) “ona 8 TRIETARL
| NH] [No][H,] |[2NH; ] [N2]{2H,]
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24. Which of the following equilibrium expression is correct ?;‘:..:..f,u;,-“f"»/;-‘ﬂﬁl PRTTS L_{_iﬁfdﬂ,ﬁi&u‘} 24
for the following reaction? Hy gy + /5 () = 2HI (4 Hyg)Flaq) = 2Hl ()
_ [P0 __[HIP _ _[2Hi] [Ho][12]
=L p Ko =+ C Ke = (B Ke= (A
o=ty © ° T THJl] © GAICYR °="ary
25. The value of K. depends upon: :q_.stIE’%m Ke .29
S et (D) Both U (C) .;u,;";';:f Jizf (B) Temperature . £ (A)

None of the above

Initial concentration

26. In a reaction, when the number of moles at both sides
is equal then the unit of K, will be:

€ty KKC;::,.{I,{ JlA;Ur‘;)f' J)’.;,,'.r*'u._,::uf uiglﬁ;_.f! .20

moldm (D) moldm® (C) mol“dm® (B) No unit (A)

27. In balanced equation Ny +3Hy() =2NHy g the £ ASEILE Ny +3Hy ) = ZNHB{Q alagiti* 21
units of equilibrium constant are: il P

None (D) moldm™ (C) mol”'dm™ (B) mol2dm® (A)

28. The Kc units for the following reaction will be: L on S 1 LKed £ PNt 28

Ha(g) T l2(g) = 2H1(g) Hy ) T loq) = 21,

moldm?® (D) None (C) mol-"dm > (B) moldm™ (A)

29. For reaction 24 + B 2 3C: equilibrium constantcan 60 AUty e e 3k C2A+B 23C UV .29
be represented as: xS

[cT [3¢] [A1[8] [2A1(8]

i) © ale] 9 cpp ©® ac] M

30. The equilibrium constant expression for equation
Hog) T la(g) = 2Hl(g) I8

K LIS L oy )+ Ly g) = 2H g wise 30

';-*_
RUS PHIP [Ho][12] [HIT?
c= (D) Ke= 7 (C) = (B) Ke = (A)
[HIT? LIS ° [HIP [Ha{ 1]
31. Reactions which have comparable amounts.of S J;J[?urrﬁb’u_ﬂﬁfdfﬁa,wlJ"Llﬁsu”ff’fiun:.i 31
reactants and products at equilibrium state have: L,C_Abul
None of these v+ (D) e 0L s JKe (C) < dnzertsfKe (B) e (oo 2 ks JKe (A)

moderate Kc value

very large Kc value very small Kc value

32. When the value of K. 'is very small, it represents:

Sl i § S5 (D) ¢ b 50 (C)
The number of products Is Reaction will go to
negligible completion

:{_ J;;LE J "r.:.-v;: %j JKG..:Q 32

. B PR PRIT

Lests U hs;u""gf ol Equilibrium will never

| _ establish
All reactants will convert into
products

33. When the value of K; is very large, it indicates:

~i:_:;f,:u; sl ies % L;KE"""? 33

et G (C) ) A
R uf[‘w' / f‘[ Reaction hasnotgoneto & J’"“'Wr‘“vﬁ vy J('(w f_J"”fu w&;/”/
Reaction mixture has completion bl Reaction mixture almnst
negligible products Reaction-mixture almost consists of all products
consists of all reactants
34, Reaction will be in equilibrium if: :fﬁfﬁﬁﬂbd}fﬂﬁ:ﬂ S8 34
Qc=0 (D) Qe =Ke (€) Qc <K¢ (B) Qe >Ke (A)
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35. The large value of K indicates that the reaction will be:

¢e b pEeE (D) ¥z b3 ASELT(C)
Proceed in the reverse Proceed In the forward
direction direction

:?ﬂﬁ-‘ﬁ;f{'_&/fdlﬁﬁ)%}d)ﬁﬁf{[ﬁ(f_‘, 39
Completed i»* (B)  In equilibrium U2 £ /5 (A)

36. If Q. <K then reaction proceed:

Zg_t'ﬂ:»:f’ifld,f QC < Kc)ﬁ 36

In both directions i 4 _s (D) Equilibrium L2 251 (C) —A0< (B) SASLT(A)
Reverse direction Forward direction

37. Reaction will proceed from left to right if: S S Lot 3T
Q=0 (D) Qe <K¢ (C) Qe >Ke (B) Qe=Ke ()

38. If Q¢ = K then reaction will proceed: Y1572 Qe =Ko /1 38
JE 4 (D) Sl SE 2S£ (C) Reverse <% (B) Forward £7 (A)

None of the above In equilibrium state

39. In reaction N,O, < 2NO,, the value of Kc will be:
0.212 (D) 0.211 (C)

< K PN, 0, 2 2N0, 39
0.214.(B) 0.213 (A)

40. In a reversible reaction if Q~ = K then we can
conclude that:

< UF £ 265 (D) 607l A5 (C)
Reaction is not at Equilibrium has been
equilibrium attained

:fuﬁé;‘fj&f{?iﬂ;ﬁoc= KC ;ﬁu’fuitldgu}:{ﬂ;g;_,gj 40

Sl S, (B) b SFELTSES (A)
Reaction is‘oecurring in Reaction is occurring in

reverse direction forward direction

41, For which reaction, ks is rate constant?

FEI85se315 (D)

Downward reaction

FESHA(C)
Upward reaction

?f_._‘.:-t';.rf..t:;kfé. f.u;gl L,F..r.-,,,"/ 41

S (B) 85 ()
Reverse reaction Forward reaction

42. | Q¢ > K then reaction will be:

S48<% (D)

In the reverse direction

In the forward direction

¥nfi8in Qg > K /i 42

£ A1 (A
Static equilibrium

£L55154 B)

Chemical equilibrium

43. A base is substance which neutralizes an a¢id. Which
of these substances is not a hase?

Calcium oxide /7 <" (D) <4Kf5 (C)

Sodium carbonate

?L,rfufﬁgfu;:_,uﬂ;li.fr'_d;Jf:ffiﬂﬁf‘:-é.upf 43

1 (A)

Sodium chloride 4. £+ (B)
Agqueous ammonia

44, Lewis acid-base ¢oncept.have the following
characteristics except:

E.-"JHLJI;;;.!'L':JE#L:J#J.-; (D) EJ#L,J:F,::IE;:E;E&:J:}% {C]
Donation and acceptance of ~ Donation and acceptance of
a proton an electron pair

N ;
C Sl eer? e S A4

g rlecd s/ 22474 (B)
Formation of a
coordinate covalent bond

e (A)
Formation of an adduct

45, Acetic acid is used for:

Cleaning metals Ji-J#+ (D)  Etching designs ¢ (C)

e baiie Lk i 45

82 S5 (B)
Making explosive

S8 07 (A)
Flavoring food

46. Dilute acids react with carbonates to produce the given
products except:

Hydrogen ¢2s/41 (D) AT (C)

Carbon dioxide

e rtsosir LS e816 80 E g K251 46
Tl g,):/n..*.r'ﬁi!,;

Water 3. (B) Salt /- (A)

47. Areaction between an acid and base produces:
Salt and a base s/ (D) Salt and an acid tu.s /- (C)

_;:_C:;.uigldjuyﬂipﬁmiﬂ_g A7
Saltand gas o¥ el (B)  Salt and water s/ (A)
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48. The conjugate acid of HPO; ™ is:

H,PO, (D) H,PO, (C)

e S 1o 74 HPOR™ 48

Hzpoﬁ‘ (B) Po;’; (A)

49. The product of Lewis acid-base reaction is called
adduct. The bond between the adduct specie is:

2 2x 57 (D) Metallic _&+ (C)
Coordinate covalent

?;:'_ t’ﬁ.i—'L.L:';( Ee Sy ;rr}:,;ufda‘gi 5y u’.'f-.i-’__lg_f:f 49

Covalent =:45(B) lonic T (A)

50. The water of crystallization is responsible for the:

T;:‘_ JIJ,.AJKUH/QEZ:ULIJT}!J 90

ces1yFo L F (D) ¢Jerd# S(0) s 1y B LK S (B) (1B LK S (A)
Transition point of crystal Shapes of crystal Boiling points of crystal Melting point of crystals
51. Which ion is the conjugate base of sulphuric acid? ,.:-_u:‘*‘_uffh’s’iﬂr_ﬂ;é"‘ 91
HSO; (D) HSO; (C) S%7 (B) SOZ™ (A

92. Which one of the following is a Lewis base?
AICl3 (D) H™ (C)

s CE NS Ve i g s 52
BF3-(B) NH; (A)

93. According to the Lewis concept, acid is a substance
which can:

< [F S U? 7654 (D)
Accept a pair of electron

.:'_l:t: JU.H; ey {C)
Accept a proton

Iﬁf_.a:f‘_gﬂl...ﬁj-;’lﬁﬁf'i f}’j Jx 53

e (Fel g7, /% (B)
Denate a pair of electron

;‘;.ﬂr;_; by {A]

Donate a proton

94. Which one of the following species is not amphoteric?

?,{_L‘,ﬂ;._.ljf;"i' ijff_.l_,f:pti._wﬂ 94

SO3™ (D) HCO; (0 NH; (B) H20 (A
55. The conjugate acid of base H,0 is: Z{_,Lj,l'_hf 4 K¥H,0 2 .95
0 (D) H307AC) H, (B) H* (A)
56. The meaning of Latin word “acidus’ is: :ﬂ;._,lbfb’gjalpﬁu,npﬁ J .96
Sour ¢£'(D) Salty .2 (C) Tasteless =i (B) Sweet 1 (A)
Y S is not mineral acid: r_J:’ A2, of
NaOH (D) H.SO4 (C) CH3COOH (B) HCI (A)
58. Acids reacting with metal sdlphides:-iberate gas: Sl S K sk f i 58
AT P 224(D) 6l o247, (C) Hydrogen ?s.4#( (B) Oxygen o7 7 (A)

Hydrogen axide Hydrogen sulphide

99. When bases react with agids, they form salt and:

* i - i ~ - &
:;JIqujfai.t:fuﬁ;fdaﬁlﬁ;ﬁbihﬁ'f?ﬁ 59

42T 8 ¥ (D) Water dt (C)  Hydrogen gas oL P2, (B) Oxygen gas o~ = T (A)

Carbon dioxide
60. Which of the following is not an acid? Ce U D Lud e 5T 60
H" (D) NH3 (C) BF3 (B) AICl3 (A)
61. The natural source of citric acid is: :;;‘_,.::_JJJSJJK;-‘"HIJ 61
Sour milk »ss1tx (D) Lemon % (C) Fats Jz (B) Rancid butter o=* (st (A)
62. Rancid butter has a foul smell because of: :,f_,;:gs:dﬁduﬁ_l';.u"( gl .62
Sulphuric acid 12255 (D) Tartaric acid ..ze.¢ (C) Nitric acid iz~ (B) Butanoic ¢ty (A)
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63. According to Arhenius concept, base is a specie which:

o | D) < GFesutridE S 5% (C)
< §FSUduti e 2§26 2 Which can donate a proton

et Lo F LT 63

)

< ZsTOHUEF U 4 (B)
Gives OH" ion in aqueous

i‘—ﬁ.!uﬁH*ﬁuF:‘”ujﬁ':' (A)
Gives H™ ion in aqueous

Which can accept a proton to other specie solution solution
from other specie

64. ......... is a lewis base: e UL e, 64

NH; (D) BF; (C) H* (B) AICl; (A)

65. In strong acidic solution the color of litmus becomes: :{_I:I.;ﬁ..f,e&fﬂ o J}«_fp,,uﬁw 69

Colorless £« (D) Yellow i (C) Blue i (B) Red~ (A)

66. Uric acid is found in: e bl i Sy 66

Grapes . (D) Apple —- (C) Fats o< (B) Urine ¢; (A)

67. Which of the following is used for the preparation of
soap?

e b U e L Uil BT

Fe(OH), (D) NaOH (C) ZnCly (B) Pb(NOs)s (A)

68. The taste of acid is: ‘e b H13654 68

Salty o= (D) Sour /> (C) Sweét L« (B) Bitter 11 (A)

69. The taste of base is: e trn 16 69

Salty o2 (D) Sour /> (C) Sweeté (B) Bitter 1»2 (A)

70. ......... is not an acid: :;;_.-,_;f e e, 10

H.S04 (D) H,CO3 (C) NH3 (B) HCI (A)

71. The acid which is the king of chemicals is: AL 2z T

Acitic acid 1€+ (D) L) S (C) Nitric acid 12/~t (B) Sul;:;hurir: acid a2 (A)
Hydrochloric aeid

72. Which base is more corrosive? Ce s wligtud T2

An(OH)3 (D) CalOH)7 (C) NaOH (B) NH4OH (A)

73. Arrhenius presented the concept.of.acid.and base in: (o b :f/[’*" I i e T3

1790 (D) 1789 (C) 1788 (B) 1787 (A)

74. The conjugate base of HCl@cid-is: Ut e JA6K 20 HCl T4

NH ;D) CI (C) OH- (B) H" (A

75. The conjugate base'of H4O™ is: e bt iKH, 07 0

H30" (D) H;0™ (C) OH" (B) H,0 (A)

76. The acid used in lead storage batteries as electrolyte is: P -3 PRy g N u:}‘?s;;hfﬁﬁ,&i@f;?&' 16

Citric acid 1z > (D) Formic acid Lzt (C) Uric acid ts#—"# (B)  Sulphuric acid ta /s (A)

77. Which acid is used for the preservation of food?

Benzoic acid 1i-F+7% (D) it So, 42 (C)
Hydrochloric acid

e b I/ L LS S0, T

Nitric-acid .t/ #1 (B)

Sulphuric acid tu/s (A)

78. The base which is used in alkaline battery:

Mg(OH)2 (D) KOH (C)

::l:.JﬂLJb}FgffpﬂdﬁgFlﬂ 18

Al(OH)3 (B)

NaOH (A)
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9. If kw=[H*][OH"]=1.0x 107" at 250C. What
is the concentration of {4+ in pure water at 250C?

1x 10™moldm™ (D) 1x10moldm™ (C)

cdPekw=[H*][oH™]=1.0x10714425°C .79
s F 7 SR

1x10’moldm™ (B) 1x 10"moldm™ (A)

80. The first acid known to man was:

Gl il sl e o 80

Nitric acid t2 #t (D)  Sulphuric acid 12+ (C) Acetic acid it (B) Benzoic acid i1 (A)
81. Lactic acid is found in: e bl i D 81
Lemon U4 (D) Grapes .#1 (C) Apple —- (B) Sour milk zsss1 st (A)

82. Bronsted-Lowry presented the concept of acids and
bases In:

& “ . .
CUr U .‘.-fj:,ufu}'j M A2 s s $08 B2

1943 (D) 1923 (C) 1823 (B) 1787 (A)

83. The acid present in sour milk is: e R Ud LUl o 83

Uric acid ts—"y (D) Tartaric acid /¢t (C) Formic acid 42—t (B) Lactic acid 40 (A)

84. Citric acid is found in: e bblLiaS - B4

Sour milk (2 2352 »2 (D) Lemon U< (C) Fat 28 z(B) Urine o« (A)

85. The binary compounds of oxygen such as carbon 4t £ 32T 308 oot 5 T S 76 1 gt ,?-flzi’.g:::ff 85
dioxide and sulphur dioxide were named as acids by: st

Hamphry devy __(yid 227 (D) Al Jahiz Z#¢1 (C) Lavisiord 71 (B) Lok (A)

Jabir bin Hayan

86. Word acid came from:

Latin = £33y (D) Indian = 371 (C)

Z::'_E?L,L,-:IL:E' .86

ltalian — £ &1 (B) Greek = sty (A)

87. Maliac acid is found in:

e bbb i L 8T

Butter 2= (D) Agple : £-4C) Fat 232 (B) Urine 2 (A)
88. Butyric acid is found in: e tblli STy 88
Rancid butter o= st (D) Grapes - #1 (C) Fats 2~ (B) Apple J&us (A)

89. Bases on reaction with ammonium salt release:

Ammonia gas ¥+ (D) At A (C)
Sulphur dioxide gas

SO LSS AL S vz B9

Hydrogen gas <742, (B)  Nitrogen gas U< o7s 7t (A)

90. In strong basic solutiomthe.color of litmus turns into:
Colorless ¢ (D) Red ¢ ~ (C)

c.bbﬁ.f;KJ‘quj}‘_f};ﬁLb 90
Blue 1 (B) Yellow L (A)

91. Which chemical is used for removing grease from
clothes?

r'.f!( r‘;.:‘ }1',-' {D}

Aluminium chloride

gum*‘fh’é‘”" {G]
Ammonium hydroxide

?;;“_t‘l.g_L;(L,IL*:‘I'UE"{Lf LH/{_J_ :':.E“I_K?E,!J:r_f.;_,"—':)ﬁf'_.ur;{ 91

,i.fLﬂu,ﬁ.fI”{?ﬁr [B}
Aluminium hydroxide

2o Fte 1 (A)
Ammonium nitrate

92. The formula of citric acid is:
C17H35COOH (D) C16H31COOH (C)

< U 650 - 92

C15H31COOH (B) C14H31COOH (A)

93. Which one of the following is lavoisier acid?

NH3 (D) HCI (C)

?i:-_,L-’“Fr“_..f;J}:f - L-J:f 93
H2S04 (B) CO2 (A)

94. Which base is used to neutralize acidity in the
stomach?

KOH (D) Mg(OH)2 (C)

Cetb U 2 i L L S7 G anf e 94

NaOH (B) Ca(OH)2 (A)

For more, Visit (www.taleem360.com) & (www.ustad360.com)




95. Acid used for flavouring of food is:
Nitric acid 22t (D)  Sulphuric acid .z« (C)

Ce bbb ol L Lot 5307 7 95
Acetic acid iu-¢< (B) Benzoic acid 454 (A)

96. Which compound is amphoteric?

CH;COOH (D) HCI (C)

?;%. ..erf L ....-r'} L-J',!rf 96

NaCl (B) H.0 (A)

97. If a liquid has a pH7 then it must:

44 (D)
Be a solution containing

Be neutral J.« (C)

Ko SxpHT s’ 97

:f..:l_ﬂl._J?Jdl_ {A]
Be colorless and odorless

4/ £0%C..1 f14,100°C (B)
freeze at 0°C and boils at

water 100°C liquid

98. What is the pOH of Ca(OH),, 0.02M solution? ‘e VpOHS s+ L Ca(OH), 0.02M .98
12.61 (D) 12.31 (C) 1.397 (B) 1.698 (A)

99. The pOH of 0.001M solution of KOH is: S pOHJ #+0.001M L KOH .99
4 (D) 2 (C) 11 (B) 3 (A)

100. The sum of pH and pOH is always: &by 4% §pOH.1pH 100
14 (D) 7 (C) 0(B) 1 (A)

101. Which is common indicator? D)) s zses 101
None of the above ' 3 (D) pH paper zpH (C) Litmus papér # (8]  Methyl orange &5 f = (A)
102. The sum of pH and pOH at 25°C is always: et vyl 2 2% §pOHL1pH £ 25°C 102
14 (D) 10 (C) 8 (B) 4 (A)

103. The pH of neutral solution is: ‘e dnpHE U2y 103
12 (D) 8-(C) 7 (B) 6 (A)

104. The pH value of a neutral solution is always: :%Jﬁjﬁdff}“iﬁfliélq 104
Zero j#(D) Equal to seven . .- (C) / Less than seven ¢ ==L (B) whie el (A)

Greater than seven

105. Values of pH and pOH are:

dnuss SpOH.spH .105

11016 (D) 11013 (C) 0to 14 (B) 01010 (A)
106. A salt is not composed of: v e FTU = e 106
et Z 42 (D) gLz (C) JtiL-et (B)  Ametallic cation o7t/ > (A)

An anion of an acid An anion of a base

Non-metallic anion

107. You want to dry‘@ gas which one of the following salt
you will use.

NazSiO3 (D) Ca0 (C)

LS O L LS B A0T

NaCl (B) CaCly (A)

108. Ferric hydroxide (Fe(OH)5) is precipitated out of

solution when aqueous sodium hydroxide solution is
added to ferric chloride (FeCls).

FeCl,
FeCly(gq)+ 3NaOH4q) = Fe(OH)3 () +3NaCl 4,

;{‘_t“l.gku- u,aiJJ"',;_f-’j)ﬂ(J E/,E?’UTjildeirJ(FECIS)IJMK_Q-_# 108
"'-'.:._‘__l._r'#f ‘JK.,J’;JI_.::_E:..*;:’;K(FE (OH)a):fLﬁijl.:..J?

Brown 1.+ (D) Dirty green 1.7 (C) Blue i (B) White & (A)

109. When alkalies react with ammonium salts which gas is ?%J:’:&-JL&\JJ u’ ﬁu;rﬂf.:«gd;.:_‘,rﬂwfﬂ y_—ﬂlfe 109
liberated?

NH; (D) Hz (C) CO; (B) 0; (A)
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110. Which of the following is an example of complex salt?

e Je S Ut sufe vttt M0

26 (D) gryp,jff k¢ (C) Potash alum r'?-rjl:; (B) Zinc sulphate =i (A)

Sodium phosphate Potassium ferrocyanids
111. Potassium ferrocyanids K,[ Fe(CNg)]is: < Ky[Fe(CNg) sttt ey AN
Double salt =/t *3(D)  Complex salt o (C) Mixed salt =55 (B) Normal salt =/ 't (A)
112. Ca(OCI)Cl is an example of: = J&Ca(OC/)Cl 112
Mixed salt =L 24 (D) Normal salt =/ f.t (C) Double salt =/ % (B) Complex salt o (A)

113. Which of the following is acidic salt?
Ca(OCI)Cl (D) NaCl (C)

te e Sha gl e i A3
AI(OH),CI (B) KHSO4 (A)

114. Salt formed with the reaction of HCl and KOH is:

:f.bﬁajg.&ybﬁ;Luf KOH.sHCI .114
Acidic /4 (A)

Complex -~ (D) Neutral J./+ (C) Basic ¢« (B)
115. Which of the following is not present in mixed salts?
NH,NO, {IZ;)< (C) Ca(OC/)ClI (B)
2S04.Aly(SO,),.24H,0

g% ufvﬁ U-;Efb ;Jr:;. ;,r:.;.,,t O 115
K,[Fe(CNe)] ()

116. Which of the following is used as fertilizer?

Bothaand b uss— il (D) 4k (C)
Sodium carbonate

Ct O AW S e it 116

o Kif Ly (B) Gypsum (< (A)
Potassium-nitrate

117. Bleaching powder is an example of:

:::_Lglﬁ"ﬁ?khi%i- 17

,S0,.Al,(SO,),.24H,0

None % 3+ (D) Double salt fe/t- 4 (C) Aeidicsalt Se/- 5 (B) Mixed salt S =/l 25(A)

118. KCl is an example of: < J&KCl 118
Complex salt L~ (D) Mixed salt.J =4 5f (C) Normal salt =/t .t (B) Double salt St (A)
119. Which of the following is double salt? ?;;__*.JLIL,HLJ:" 119
(D) AIC:%(C) Ca0 (B) NaCl (A)

120. The ability of carbon atomsto farm chains'is called:

-uﬁgﬂ/&ﬂ“ urﬁ_t:uﬂuf;;:!um{ 120

Resonance sz (D) Candensation ;F-"}f (C) Isomerism  »»7 (B) Catenation o & (A)

121. In laboratory urea was prepared by: UL sy A 121
Dalton %5 (D) Berzelius <. (C) Rutherford :.4.», (B) Wohler *: (A)

122. Which one of the following is not a fossil fuel? ?{_Jf it il e st 122
Petroleum ¢: % (D) Biogas + +\ (C) Natural gas o< (.3 (B) Coal £+ (A)

123. Which one of the following does not contain protein? ¢ dn :ﬁru-’f;;; S eSS 123
Eggs = (D) Beans («uxf (C) Potatoes s+ (B) Pulses (zuss (A)

124. Which one of the following statements is not true
about fossil fuels?

UE WAL, D) sl Sy L2 (C)
they cause acid rain they produce pollution when
burnt

:g_ufWJJ {;,'_L;Lr'ujfrbﬁ;’_..:@iﬁjéukﬁ 124

Ll Lokl (A)
they all contain carbon

{._Ecl-_vktaa;u&::bﬁ;f (B)
they are renewable

125. Who prepared the first organic compound urea?
Jabir bin Hayan > (D) Dalton % (C)

WL g da S T kg 125
Arrhenius L =27 (B) Wohler *: (A)
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126. The branch of chemistry which deals with
hydrocarbons and their derivatives is called:
S+ (D) §H U5 (O)
Analytical chemistry Physical chemistry

= L & . ‘,.r‘"
;"_JU-:‘/;‘_ d;rr.tfuvif}f:{;;ji;;Jh:r'ﬁ;KquﬁLL:uur’ﬁf’ﬁ 126

A4 0T (B) ST (A)
Organic chemistry Inorganic chemistry

127. The bond energy of C - C bond is:

555 kdmol.1 (D) 455 kdmol.¢ (C)

LLFJI;LL:..LLC C 127

355 kJmol.1 (B) 355kJmol.1 (A)

128. Carbon is:

Compound -~ (D) Metalloid ¥ = .= (C)

.;.u.ru -6 128

A non-metal «t-: & £ (B) Ametal =1 (A)

129. The example of heterocyclic compound is:

e Je S a B 2 129

Pyridine ¢3¢ L (D) Cyclohexane ¢/ £5£L (C) Hexane o (B) Benzene o~ (A)

130. The chemical formula of urea is: : ":—'Llf"'ﬁﬂm:" ¢ 130
NH,CI (D) NH,_CONH_ (C) NH.CN (B) NH,CNO (A)

131. Coal having 90% carbon content is called: ““.f:.l:'LLJ/as._!‘h:_r;?v‘lFrL_ WS90 L2 A3
Bituminous ="+ (D) Anthracite hﬂ;for}"ﬁ (C) Lignite -..-FLf (B) Peat - (A)

132. Main component of natural gas is: ¢ ‘,__Ju S AIY L5 g 132
Propyne ¢+ (D) Butane ¢« (C) Propane .#:x(B) Methane o (A)

133. The strong heating of coal in retorts in the absence of :;._Sg'gf_g__;’l,-fjﬁ/;”k;:,E,:;’_J:;’L;ﬁ,g,,;r.ngﬁ 133

air is called: T

S5 05(D) Roasting &, (C) Sublimation <= (B) 2 (A)

Destructive distillation

Fractional distillation

134. Pitch is black residue of:

?r:_.::{:r;g-ﬁlu’fg 134

Coal gas ¢7 /(D) Codlé 1 J (C) Coal tar €J5 ¢ (B) Coke ¥ (A)
135. Natural gas is 85% methane. It is used to make: PV d L e te (s ;;,-df’-‘: 4854 4.5 135
e

Coal gas %/ (D) Coaldar i)y (C) Coke /Y (B) Carbon black & .-.€ (A)

136. Which one of the following does'not contain starch? qjﬁuif:ﬁf&ﬁ,ucu{;ufutjﬂp 136
Potatoes 7 (D) Barley » (C) Maize &* (B) Sugar cane u"(A)

137. Petroleum is refined by: . q-,‘__t.%rw:'ﬁj;%)u{,_u:utjﬂ?iﬁjg,ﬁ 137
Dry distillation u’»*x 13 (D) Ik (C) BN (B) S35 (A)
Simple disfillation Eractional distillation | istillati

138. Which one of the following is the hardest coal? ?.f_.,ff JreFud e ttioie 138
Anthracite .+ 2. % (D) Bituminous =% (C) Lignite -z (B) Peat . (A)

139. Carbonization process is the conversion of: C Sl K 3 )5-&_ <J 139
sV S (D) SXSEsA(0) SEAS LS (B) SIS LS (A)

Wood into coal tar Wood into coal Coal into wood Coalinto coal gas

140. Coal gas is a mixture of: _ﬁ;/;‘urf 140
CO,. Hy20d.CO D) 5 CH,and.CO (€}~ €O, CH,2nd CO(B) CH, 2nd CO_(A)

141. Conversion of dead plants into coal by the action of
bacteria and heat is called:

4 -
ol :
L i = OO LS i r’""'? 'l
L a2 HEEHEF e HE -
L]

Cracking
Tt | Rl -

_.T_.t‘wfliﬁutfgﬂ Jffb/wjgn:/:_;f-{: n.:'.r..flf.rﬂg./;-g 141
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142. Percentage of methane present in natural gas is: et ,;ul-'i’:"' L & v fguril & 142
90% (D) 85% (C) 80% (B) 75% (A)

143. The amount of carbon in peat is: :;ﬂm@ Skt 143
90% (D) 85% (C) 70% (B) 60% (A)

144, The percentage amount of carbon in wood is: e A KA 44
70% (D) 60% (C) 52% B) 40% (A)

145. The amount of carbon in lignite is: e i henl 145
90% (D) 85% (C) 70% (B) 60% (A)

146. Which one of the following is a synthetic fiber? '?{-ﬁ"li-ﬁf:} bod e Uitipsae 146

Silk - (D) Nylon -+t (C) Wool s (B) Cotton ¢ (A) |

147. General formula of alkyl radicals is: _ImbJ 26K L F e 4T
Cp,H3, (D) CoHan s (€) CnHan_, (8) Colan,, ()

148. Identify which one of the following compounds is a P u;’;;:f ﬂ;ﬁj;;y S s 148

ketone:

(CH,),CHCI (p, (CH3),NH ()

(CHE)ECO E) (CHB)ECHOH (A)

149. The formula of ethane is: ::;_uwﬁif.-;,_ﬁ" 1,149
C.Hs (D) C,H, (C) CoHs (B) CHs (A)

150. The molecular formula of butane is: Z.:'_Llr‘,rl.iflggwuff 130
CsHs (D) CaH42+(C) CaH1o (B) CaHs (A)

151. General formula of alkanes is: :;.UrJEJ;zKﬁII 151
CrH30 42 (D) Crloh2 (©) CoHypiq (B) CnHapn (A

152. The formula of decane is: :;L-ur.rEK&J 152
C1oH1s (D) CioHs (C) CioH22 (B) C1oHao (A)

153. The hydrogen atoms in pentane‘are: X0 P ﬁlgar;ifkﬁuf'%’ 153
16 (D) 14 (C) 12 (B) 10 (A)

154. The other name of alkanes’is: Ul fﬂ(}".‘q 154
Ethylene £ 4 (D) Paraffins %1z (C) Olefins 7 s (B) Halogens =24 (A)

155. The functional group™="COOH Is found in: ?r‘:-ﬂfl-.gu':u'(— COOH:@‘J’F&«P@ 185
Esters ;i (D) Alcohols i (C) Aldehydes x4 (B) T LK (A)

Carboxylic acids

156.

In which of the following groups, oxygen is attached
on both sides with carbon atoms?

Ester ~i (D) Aldehyde x4k (C)

) a * - =
ﬁfuﬁiguﬂhﬁf}'lu'ﬁjiigﬁ ufl_,"é:,f' = u‘futj,._:u.f-f* 156
Yl wiwe 7

Ether 4 (B) Ketone w1+ (A)

197.

Which one of the following compounds is an
aldehyde?

CH;COCH; (D) CH,CHO (C)

fe X Lf,i}*ltfu:'f;. o Jﬁﬂrfuti,._:r.x# 157

CH;—COOH (B)~ CHy—CH,— OH (A
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158. Organic compounds containing — QM group are
called:

J i) 6 (D)

Carboxylic acids

Ketones + (C)

LWl BT w S~ OH 158

Aldehydes x4 (B) Alcohols .0 (A)

159. Which of the following compounds is aldehyde?
CH;COCH; (D) CH;CHO ()

Ce Mo e ekt b pae 159

COOH—-CH; (B) OH—-CH,—CH; (A)

160. Which one of these hydrocarbons molecules would
have no effect on an aqueous solution of bromine?

CzH2 (D) CzH4 (C)

f_.;ru::;j.ldféu,ﬁ}bbflglZ.l_:.lf,',.fjL-j!r‘:‘_.;__f'::flllz'rl.uﬂ;ﬁlj.r:ﬂrp'| 160
14

C1oH20 (B) CHs (A)

161. Halogenation of methane does not produce which one
of the following;

G MLl e Bt g e {7 161

Chloromethane o2+ (D) Carbon black g ¢z.¢(C) Chloroform 6., (B) 21 7 e (A)
Carbon tetrachloride

162. Incomplete combustion of alkanes produces: wﬁ-&ﬁfﬁaﬁug“: /;fl 162
e T35 (D) LK XL i K (C) YT v K37 (B) T ek~ (A)
Carbon dioxide and carbon Carbon monoxide and Carbon monoxide/only Carbon dioxide only

black carbon black

163. Which one of these is a saturated hydrocarbon?
CsH12 (D) C4Hs (C)

= e——

Co i\ U e Ut 163
estls (B) CaHe (A)

164. One of the hydrocarbons reacts with one mole of
hydrogen to form a saturated hydrocarbon. What is
the formula could be of the “X"?

LA INNAL 20, A L1 LXK 00 164
08 v l-;rlljf' J E’”X"ﬂ.ﬂ:. WAL ..-'..TE e u::’f

C7H16 (D) C4H1 (C) CéH12 (B) C3Hs (A)

165. Dehydration of alcohols can be carried odt with: fe Gl A L e i puin F s R0 185
HCI (D) H2504 {C) KOH (B) NaOH (A)

166. Substitution reaction is the characteristies of: fe e ~ Ufw’augut;@_u U;L‘('J‘ €2, 166
None of these & 35/ % (D) Alkynes ¢ gir (C) Alkenes & (B) Alkanes ¢ (A)

167. Halogenation of methane in‘the presence of diffused
sunlight takes place:

-" &0 & -~
?%dﬁ&)ijﬁjbufw:ﬁuﬂo}ﬁfL&Lfijjr‘gi JE;J!" 167

= Fisd 0 (B) S L1 i (A)
Slowly in one step Suddenly, only in a step

SS e $EAD) Sz 8 S2 (C)
Fastly in two.steps In a series of four step

168. Which one of the fellowing is a substitution reaction?
A D) S A (C)
Bromination of alkenes Halogenation of alkanes

=8 c)jgl LEJKLJE;-'L-"I;.J:J_L_M;-* 168

S kS (B) = F 6 (B)
Halogenation of alkenes Halogenation of alkynes

169. What is the molecular formula for the eighth alkane
member, octane, which is found in petrol?

M CoHg CHy v 6/ ML A o S L o) 169
gguid;,&,fﬁfﬂy”ur;ﬁ){?wdﬁv{' ST - HCgHg

-l
C8H20 (D) c8He (C) CEH16 (B) CBH?® (A)
170. General formula of saturated hydrocarbons is: b 28R K ks AT0
CH" (D) ChHz2n (C) Cny2n+2 (B) Cnhyz2n-2 (A)
171. Which of the following is saturated hydrocarbon? S gkripms s S od et AT
Propyne u,fLTJ,; (D) Ethyne /i (C) Propane .zs (B) Methane .~ (A)
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172. The formula of pentane is:

e by 138

CH (D CH (C) CH (B)
173. The number of ﬁyarngen atoms in pentane is: > ° > 1 5?12
16 (D) 14 (C) 12 @) FEATIE L T 1
174. The chemical formula of chloroform is:
CHCI (D) cCl (C) CHCl @ <% *’“ngf'ﬂ‘ﬁ v
175. Which of the fﬂlluw?ng s called paraffins? 4 ? 2 .
Alkyls #¢1 (D) Alkynes ¢ (C) Alkenes i (B) F57 " F< ""'Mﬁ%%%‘%ﬁ?

176. The main source of alkanes is:

None of the above ' {+ (D) A L) (C)

Coal gas and water gas

UK p;

v |,,..-.f..-t5..a3|
Petroleum and natural gas

o i (B)
Air and water gas

177. Marsh gas consists of:

Butane ¢/’ » (D) Propane .. (C)

Sl

178. Alkenes are prepared from alcohol by a process
called:

B s (D)

Dehydration o*.x1y: (C)
Dehydrohalogenation

Ethane 1+£ﬁr (B)
?.;_i:;?g.;y.:}.»_., !fuf:./b:ﬁ:(/j 178
Dehalogenation Pon: (8)  Dehydration o=~ <N (A)

179. Dehydrohalogenation takes place in the presence of:
NaOH &) {D} Aqueous KOH KOH./£1 (C)

L
TR
Aqupnnq NaQOH

Alf:ﬂhuht: IfﬁﬁCIEOH_f,U’ ("u—J YYD

180. Oxidation of ethene with KMnO produces:

Jﬁpf_KMnomf 1,180

P Bl e oo
AT

Propene glycol J¢(i¥e4.. (D) Ethane glycol S(IEL7 (€
181. The end of the product of oxidation of acetylenaiis:

None of these 27/ £ (D) Glyoxal, 1. 42(C)

?:*_LJ;_HJHJFWIJJMMU% ;131
Glycol JJAE(B) QOxalicacid ty 027 (A)

I
I +

182. Dehalogenation of tetrahalides produces aeetylene.
This reaction takes place inithe presence of:

J:;J#JL/’Q;#-LJU," ":.u,“yf!L'f JUJ,»LPI/" 182

“Lbfuﬂdjﬁfd =

Potassium metal %< ¢y (D) F () Zinc metal ¢ (B) Sodium metal - £: (A)
Magnesium metal

183. ;IT(EE ﬁ;ger of reactivity of hydrogen halides with et S e Lo A g:/:ﬂ 183
HBr> HCL (D) HCH= BB {C) HE = FH B H=HE A}

184. Oxidation of alkenes produce: e e F TS 184

:— " " I - I_'I.,:- EEE E |. . I HIL—J::.-'J‘F'-_T {E} .l""l| | ILJ Y : } u -"._ #~
185. Which reactions are the characteristic properties of C e s® d J-/'-,_{(l ;f"-fld,mif 185
alkenes?
r-""r ol (D) ;_‘Jigfni.f.au’yli (C) ff't.aa’ur'*’r' (B) u:g'd’wif&:’ (A)
Actdtormrreacton ' | ctron et i
186. Alkenes are also called: :L,;r&uf S, /-,ﬁ 186
s\t s ) (D) Acetylenes 7= (C) Olefins 7§+ (B) Paraffins ;1 z (A)
" AETOMatic ToOmpounus

187. General formula of alkenes is: c U 2K /-..",/l 187
CnHEn-‘l ':.D.:' EnHEn+E {EJ EHHEH [E} EHHEH-E ':.A]_
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188.

Alkenes are known by the name:

Acetylenes = (D) Olefins ;7 4 (C) Paraffins 71z (B) ?ﬁ;r@t@methaﬁ/&éj’;ﬂ@ﬁ
189. Benzene is formed by the polymerization of:
Butene o'+ (D) Ethene o™ (C) Acetyldive udtrey = o712y (Metiada L Y189
190. The final product of the oxidation of acetylene is:
None of the above %' 3+ (D) Glyoxal ©' 73 (C) Glycol Js/1¥ ﬁ)"(‘”" S70%li Cﬁldlé/ %.uuf A
191. The catalyst used in the hydrogenation of ethene is: o
Ag (0 Ni (C) e gy A g
192. Ripening of bananas produces gas:
I:Illitrn::rggen AP F {FE)] : Ethene < 2" (C) Ethané-“»ﬁ‘i"“*r‘ G S U’”Méﬂfrﬁ; éé“ 1&8
193. The reduction of alkyl halides takes place in the

presence of;
u/ HCl (D) Mg / HCI (C)

"c.l..rfu*d:h‘d =AY J,:r..r.a-u.f Jiﬁifﬂ’“uw' 193

Na / HCI (8],

194,

A hydrocarbon has molecular formula C H ,whatis
the molecular formula of the next membér &f the same
homologous series?

CH (n) CH (C)

Zn [ HCI (A)

/i'ifﬂu‘gijfdrl-&-CBHH,L!*’JU/IJL'LKU J'E/.U |{ | 194

c.H ) (B)

F U 6K
CH (a)

9 12 9 20

816

9 18

195. Ereelilr?geer;?tmn of tetra halides is carried in the & St G ke s o 2 195
Zinc-dust(D) Na{C) Mg(B) KA
196. Alkynes are called: , ol
AceiVIoRs-oe D) Pacatineli) (6 Ethono (B RN
= 3 iy = =LA L)
197. Which one of following hydrocarbon gas reacts with 2
acidic solution of KMnO to neutralize its pink colour? /f')j FNELI S Ly, L’J"’”K”“'{?i':i 197
CH- oF C-H—H6) EH-{B) EH—A-
198. Dehydrohalogenation of vicinal dihalides takes place fe( Lot boar S S Js g~ 198

in the presence of:
NaOH_&.0i (D) CAqueots KOH KOH. £ (C)

Alcoholic KOH KOH &4 (B)

NaOH_"'£i (A)

AtcohoticMNatH
199. The percentage'quantity of:acetylene in coal gas is: ;,;_,:;,;Jiﬁaﬂjgfu:ﬁmcuiilf 199
0:09%0) 0:08%(C) 0:7%(B) o0 T
200. The molecular formula of acetylene is: f_mw,ku_ " ,200
CoH5 (D) Cof; 1) CoH, (8] CoHg (AT
201. Carbohydrates are synthesized by plants through S el dumid sl S L L ,J’"’ 93K 201

photosynthesis process which requires the following
except:

Chlorophyll . (D) 0,0, (C)

- l,r‘l_,-.. ._.r.a':ﬁgu U":J:;JMA.L.

uf:.!:f.r" Jf:;Jﬁ;F [B}

Water and CO, J¢.+/CO, (A)

202.

Which of the following is a disaccharide?

Presence of sunlight

?;:_:ﬂ/ﬁ Jiﬂr’.u,l;& L}tutj,.;,:ﬂ 202

203.

Starch .t (D) SUCTOSE J».+ (C)

Photosynthesis process produces:

Fructose -7/ (B)

GIucose 7+ (A)

GIUCose 77 # (D) Sucrose s+ (C)

Cellulose 4+ (B)

Starch z.t (A)
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204. Which one of the following is tasteless?

* . .
?»f_.t'ﬂ.'ﬁili.;.l.-'! :-u'futj,..;-;# 204

Sucrose .~ (D) Fructose ;# (C) Glucose ;5 (B) Starch z.t- (A)

205. Glucose is: 4% 205
.._J;-:'/J"TJJIQ.:F«;:{D} fg-diﬂ Lfrl'-;rkt-:_{c:] ;,u':ﬁ"ﬁl';.ffl,!}?: [B} KL Akl u’r:f'.ufll.-":? {A]
Pentahydroxy ketone Pentahydroxy aldehyde Hexahydroxy ketone Hexahydroxy aldehyde

206. Which one of the following is not a characteristic of
monosaccharide?

..E—;'J;.f.-;_ub J-.r.-l-; (D)
Reducing in nature

Hydrolyzeable 17 1.5 (C)

Qe QL IS Iy s S e i3 20k 206

J I (A)

Soluble in water J= -, (B)
White crystalline solids

207. The most important oligosaccharide is:

-:L*_:fb;; !?:l le;. — 207

Maltose .+ (D) Fructose ;+ (C) Glucose ;+¥ (B) Sucrose .~ (A)
208. Which simple sugar cannot be hydrolyzed? -8 ﬂ,«s,.r,.ygd{_f Sul-$wd 208
Cellulose ;4 (D) Starch z.& (C) Sucrose s~ (B) Glucose /¥ (A)

209. Lactose is a type of sugar, it consists of sugar and

e N - ¢ fjljrr:’,ﬂiif_f)_gd,?rﬁil@ 209

Galactose s+ (D) Starch z.& (C) Maltose 7+ (B) Sucrose J».~ (A)
210. In which part of digestive system glucose is (b st L 51508 210
absorbed?

Large intestine =72 (D) Small intesting =7+ (C)

Liver & (B) Stomach +.»- (A)

211. Which of the following is tri saccharide?

Ce AU e e 211

Vitamins ot (D) Lipids %/ (C) Proteins i<, (B)  Carbohydrates ., (A)

212. Which of the following is pure cellulose? ?,-;_;.;':EJJE.QM! 212
Wheat ~"(D) Bread J¢. (C) Rice Js (B) Maize & (A)

213. Which of the following is crystalline solid? ?{_Jﬁﬁwf/"buf;,uiufjg;ﬂ 213
Glycogen (¢ (D) Cellulose 7% (C) Starch . (B) Glucose 15 (A)

214. Mono saccharides consists of ...... 4. earbon atoms: ?L,"J":'Lﬁﬁ ,fw;a*:n@r.ﬂé./ SR 24
Five to ten -.,,n‘;.ég (D) Three tonine /.2 (C) Four to eight #7= .. (B) Two to four = (A)

215. Which of the following dees not centain starch? NN =S 215
Potatoes »7/(D) Barley = (C) Maize & (B) Sugarcane ¢ (A)

216. Pentahydroxy ketone isicalled: :,-L-_t'u:fu:":(u”fu,’fl,% 216
Fructose ;" (D) Sucrose s~ (C) Starch z. (B) Glucose ;5 (A)

217. Chemical formula of fructose is: :-T_-U!’JEJE{ SESRVIN
CsHqz (D) C4H1o (C) CsH120s (B) C12H22011 (A)

218. Which protects us from muscle cramping?
Carbohydrates ..+ (D) Vitamins t: (C)

?r:_t'/r;.ﬁ g u,l'!r‘f'”_- _f'i:-(-frdf,')'f 218
Lipids J2/ (B) Proteins -=s.c (A)

219. Thousands of the amino acid polymerize to form:
Vitamins =t (D) Lipids 2/ (C)

b Ak U 219
Profeins sz (B) -~ Carbohydrates .. (A)
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220. Enzymes are proteins which have the following

properties E}{?Ept -uﬁgJ;Eﬂr“’;d‘*igsﬂiéﬁ_lrﬁuﬁﬁjﬁ@;jlﬂ 220
Gk sL Kk (D) Ui iraliedty (C) L s . (B) S SF 0 8L (A)
They are produced by |ivir|1|g They are highly efficient  They are highly non-specific They catalyze reaction
ce
221. The organic compounds used as drug to control
bleeding are: ”LbiJW'J&JJ—J:‘iT{.{f JJ"I’S-HJ%- L, :’f..ai-]f 221
Glycerides 1 - (D) Lipids 2/ (C) Proteins s, (B) Vitamins 2t (A) |

222. Amino acids are linked to each other through: )
Peptide link ¢+t (D) Gelatin link 8.7 (C) jonic link & & 18— £y

223. Gelatin protein is present in:

Bones _zoy4 (D) Heart .z (C)
224. Proteins are ......... by weight of cell:
50% (D) 65% (C)
225. The body reactions are catalyzed by:
Fatty acids ;2:1,% (D) Enzymes 417 (C)
226. Which one of the following is a triglyceride?
Vitaming =t (D) Lipids ;3¢ (C)
227. The chemical formula of citric acid is: )
C H COOH (D) C_H COOH (g) C/H cooH @) &% Jb#{lﬂ"iﬁ}ﬁnzﬁ
1531 . 17 37 17 33 17 35
228. Building blocks of lipids are:
34614 iv (D) Fatty acids /%15 (C) Amino acids i+ (B) “Iﬁ"cle'ﬁ: ar:'g= 2&8
Mona saccharides
229. The formula of palmitic acid is:
P PRIy SF [253
C—H-CO0H (D) e—H-COOH {0} CH-COOH-(B) —L
23{]0 | 17 EEd he hvd fTE-EEbl | 17 35 15 #
. Catalyst used in the hydrogénation of vegetable oil is: .
d yred ; | e b R ST G T, 230
Pb(D) NHE) ' Cu—8) AAY
. e 5
231. Which scientist discovered the structure of E)I:IA | sl haFo r, H/ (DNA 231
Robert Hook {1 (D) s (C) John Dalton Juuug (B) opkins # (A)
Watsenand-Griek
232. Which one of the following vitamins isl walter soluble? e tn Kyl bof ot it osie 232
itamimE € (D) Yitaminm BB (€) Vitamim €€z (B — wta'rmn'A'AU"c—(Aj'
233. Which one of the following is a fat-soluble vitamin? ¢ {'-Jff ved S bl e Lo 233
Allrof hese (D) RTC) E{B) ATAY
234. Night blindness is because of deficiency of: Ce dndkl Ui bate »Sd Sy 234
Vitamin D Dt (D) Vitamin C.C.7t: (C) Vitamin E Bo 6 (B) Vitamin AA."t: (A)
235. Deficiency of vitamin E causes: e dyr Sk J PN J;,frJJE oLy 239
Night blindness’ 4 s+ (D) L=ty (C) Scurvy & > (B) Rickets $.& (£ + (A)
Anemia in babies
236. VVitamins B complex contains: Ll e ﬁi—" HBL-,,-“ ks .230
12 vitamins =¢,12 (D) 6 vitamins =+t:6 (C) 8 vitamins =.8 (B) 10 vitamins =#¢:10 (A)
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237. Who proposed the name of vitamin?

Lewis . (D) F Crick &/~ (C) Watson s B) oy 75/ FlDK Y
238. Rickets disease is caused by the deficiency of:
Vitamin C C/"t+ (D) Vitamin E E¢/t: (C) Vitamin A AeZiB). L. f { . Vitemin BB 0%
239. Who invented vitamin B (Thiamin)? |
Davy ¢ (D), J Watson ¢isz (C) Funk —c(B)-3, 5 (% 50BKIDSL+i239
240. ......... is caused by the deficiency of vitamin A:
Both a and b _#ss— sl (D) Rickets ¢ J £+ (C) Sore eyes ST (B) Mgﬂ?tﬁnﬁméaéfiwmm
241. Fat soluble vitamin is:
All (D) K (C) E (B) :.;anm
242. Hopkins noticed for the first time:
Vitamins ¢ (D) Lipids s/ (C) Proteins -
243. About 99% atmosphere’s mass lies within:

11 km ~ £11(D) 15 km 22 £15 (C)

35 km ’#fﬁﬂffﬁuﬂ J ﬁgggﬁﬁm&

244. How many percentage of sunlight is absorbed by Ne _ e a .
atmospheric gases? * H;f#};fu@fﬁl,ﬁﬁibﬁ’uu Ly 244
350D} 245G B %A
245. The two major components of atmosphere are: _ 2
S, : , 2 A L A
\'.;_‘L?Jﬁll,:.rﬁ".- ! {D] |_',.-'f:r'l .-:-I.;_*_,":: :';}"L' {C] .'_:,’::u;flrul,-_p:::fft (E} dlfll Ii;é{.,:}: ﬂ;lflr {ﬁg
Oxygenand-water
246. Nitrogen and oxygen are ......... % of atmosphere; o . ,
g ygen ar 0 R . ¢ ,E,aggf{,i,:"’y:@ffl,e;!if;&”t .24g
9% (D] 99% {C) o (B) 0
247. The volume of CO in dry air by ratio is:

e t‘ﬁ_fﬁ:fuiuf_f’iffﬂwjr&lht;ﬁzﬁ& 247

78-09%(D) 2094%5(C)

Depending upon temperature variation, atmosphere is
divided into how many regions?

248,

093% (B ] 0.03% (A)

e VU S S S S A 248

Four D) TAFee o2 (C)

249, Just above the earth's surface is:

WO :: (B)

oA
VLSt 249

SEpY

e 1L

Troposphere 743 (D). Thermosphere ~ » 7 (C)
A group of gasses that maintains temperature of
atmosphere is:

.;,;FIT;HL:—’?:FE (D)
Nitrogen and oxygen

250.

: -
=L L 3= T(C)
Oxygen and water vapours

251. The earth’s atmosphere is getting hotter because of:

it 2580, (D) Ltk 50 (C)
Increasing concentratioh of Increasing concentratioh of

In

Stratosphere ~ % > (B)

Nitrogen and carbon dioxide

SO, 0,

252. On which bases atmosphere is divided into four
regions?

dazts e (D) ez (0

esosphere ~ s+ (A)
Tl ;J:(:djﬁ/ﬂﬁdhiuf}:{!ig.@i_r}?;‘ﬂ 250

L’L‘J'lei,';.-': JE‘J![L:.JEJ___};L: [B} ..'.rl.:E:'a‘:.-(_.;LﬂJILf'TLEG I._'.-";-'E'/{A)
Carbon dioxide and water

vapours

~ . ?j"-'riﬁritff-e!dlf ks 251
Li.,alufu-'“:-',;-'f’(d{:lﬂz (B) %—u'u’:w%:?f(,f;[} (A)

O, CO
E'.:;.yﬁgrf.j U’:}'_j:u‘.g..; ngff:f}‘:ﬁ.' 1,252

TN -\
S G}

I
-

IE' J:- I‘*‘:!-‘r.ﬁ\
L I~ L L |

- S

Change in weather Chanae in temperature

Chanae in radiations Chanae in nresstire
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253. Height of stratosphere from earth’s surface is:

e yShbe il s 253

60 km (D) 50 km (C) 40 km (B) 30 km (A)

254, Thermosphere layer is at height above earth’s surface e ke Sl e 7 254
IS: ‘

85-120 km (D) 50-85 km (C) 12-50 km (B) 0-12 km (A)

255. The major constituents of troposphere are nitrogen
and:

Sulphur & (D) Oxygen o 7 (C)

UL S ﬂ@@fﬁp‘iﬁ@:?iﬁb{ﬁ 299

ST 362 (B)
Carbon dioxide

Hydrogen ¢7:.2¢\ (A)

256. At the height 85-120 km from earth’s surface is:
Thermosphere ~*+ # (D) Stratosphere =« » (C)

febrsnrl 2120285 Juts 256
Mesosphere <*: - (B) Troposphere =+ ./ (A)

257. The layer of atmosphere which is next to froposphere
and extends up to 50 km is called:

Stratosphere =« + (D) Thermosphere ~*» # (C)

e QW A B0 1= 1 90 25T

Hydrosphere <* 1.4\ [B} Mesnsphere A (A)

258. Which one of the following is not a green house
effect?

R L_,.-": irdg.f..-ﬂf {D}
Increasing sea-level

Sl e 2L - (C)
Increasing flood risks

{'&.f Q[u *LJ);L'J :.ufij;;i-* 258

St 24 S (A)
Increasing atmosphere
temperature

S8 2 B)
Increasing faod chains

259. Which one of the following is not an air pollutant?
Ozone ws» (D) LT3R 4t (C)

‘?:*_u"(..ﬁ-*sj'ﬁ'f'i.ruh:.ufu ioss 299
:L"LF-I';;"H ;K(E} (o tl_:l.[._,.- JK{A]

Nitrogen dioxide Carbon monoxide Carbon dioxide
260. Which one of these pollutants are not found in,€ar Wbl e IS K e b e S e 260
exhaust fumes? '

S0, (D) NO; (C) 0, (B) CO (A)

261. Waste material that pollutes air, water and $oil Is e b ST ;;ngc!ﬁﬁu,sLuKrb{ 261
termed as: '

Solution *# (D) Solyent .. (C) Pollutant =4 (B) Pollution ¢/ (A)

262. A primary pollutant is: ;ﬁ,#,gdjj,;bg 262

H,SO4 (D) H,CO3 (C) HNO; (B) CHs (A)

263. Carbon monoxide is‘harmful-tods because: Sl e wold e d\ T v K 263

o I 2w WD) C) &S eF LU (B) e 5 e Ut L (A)

Makes the blood coagulate FET SR dur:?
;‘_.._g_ u

Reduces oxygen carrying

ability of hemoglobin

Damages lungs tissue Paralysis lungs

264. Every year there is a rise of ...... in atmospheric

uf/?’:ﬁﬂ ...... kﬁdbﬂ;f!d’,}_.u'J:ELJleiw:JEJ' “:IJE 264

temperature due to carbon dioxide in air: PRYER 5
0.01°C (D) 0.02°C (C) 0.05°C (B) 2°C (A)
265. A secondary pollutant is: ey S 265
HCI (D) CH4 (C) CO2 (B) SOz (A)
266. Normally rain water is weakly acidic because of tetnS i e i 5 U LU 9 e 266
NO2 (D) SO; (C) CO; (B) SO3 (A)
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267. Buildings are being damaged by acid rain because it
attacks:

Calcium oxalate «.7<¥ (D) 220K 7% (C)
Calcium carbonate

S St E e OGS  UIe os Sk 26T
trdS el e

Calcium nitrate < 7t <*"(B) Calcium sulphate =i+ <* (A)

268. Acid rain affects the aquatic life by clogging fish gills
because of:

Aluminum metal ==& (D) Mercury metal &/~ (C)

u/fl?.') j,b.eul :_./'M:)/fiil_)rﬁ; P"Ln_,'f:?f“uffu .e.d-r” 268

Chromium metal <./ (B) Lead metal & (A)

269. Iron and steel structures are damaged by:

U7 d5e6 (D) Methane =~ (C)
Carbon dioxide

“r_dnl.-r_, ._.JLfJu.. ;;rk_,ul 269
Sulphur oxide 705 i~ (B) WIT I8 (A)
Carbon monoxide

270. The pH of normal rain water is:

e SpHS QL LUt 270

5.6-6 (D) 6-6.5 (C) 5.4-6 (B) 5.5-6 (A)

271. The pH of acid rain is: e rpH b 2T

7 (D) 6-6.5 (C) 5 (a} ‘ T4

272. Which one of the metal clogs gills of the fish? e 3T f LU J:m;u Ceon 272

Lead 4/ (D) Aluminium =="41 (C) Copper ¢ (B) ron ¢27 (A)

273. Ozone is berlgﬁcial for us as it: o | = ISP e o 273

_T_u;f.;hr-"":#ipﬁ (D) _THJ%’.;;;JE"J:J:”:E{C) .T.,jf:r:}:;[ .i-..-'._x"‘ I/Jf (B} ._.-.w:'ﬁfu.ag;..t;lf’.l {A)

Absorbs air pollutants Absorbs Absorbs ultraviolet ~ Absorb infrared radiations
chlorofluorocarbons radiations

274. Infrared radiations emitted by the earth are absorbed
by:
CG andO 0,.CO {D} N and CO CO AN, (C)

Chdr e S AN A NP1 sl et 2T4
0 and N N, ”JO (B) CO and H DH D 1CO (A)

275. Glﬂbal warmmg causes rising cuf the sea 1evei The
cause of global warming is:

S lf.:.-J.Iful- U? r_t'uulwf L.a,»f;;...ffouf 275

;"_
0, (D) NO,(C) SO, (B) co (A)
276. Which gas protects the earth’s surface from ultraviolet ¢ ,;_L';ﬂ 5V o AI8h K 1 A [i’ St ;u-f 5y 276
radiations? * )
0, (D) N, (C) CO (B) CO, (A)
271. Effects of ozone depletion are.following except the ?.;_,_;r-; o L2 idg;ﬂ;,u«" S i 207
one: * " ‘ o
stk U T(D) cresid A (C) St s ut (B) S tur s s> (A)
Can cause climatic changes Can cause skin cancer  Increases crops production Increases infectious
diseases
278. Cause of global warming is: e oS F 278
0, Gas 70, (D) NO, Gas v<NO, (C) S0, Gas S0, (B) C0, Gas /7O, (A)

279. In which region ozone formed?
Thermosphere 2 =+ » # (D) Mesosphere 2 <>+ (C)

‘E’,;-_.Cﬁ" o u,,a.i,.r.;_.’f;) Ul 279
Stratosphere = ~ (B) Troposphere = = 4./ (A)

280. Sea surface is protected from ultraviolet radiations in
global warming by:

?.-i;;‘dfjﬁya?‘Lﬁlﬁé;&jm/}j*:rti’dﬁ.sﬁ.:._f‘;l}pkﬁ 280

05 Gas 8l 03 (D) NO, Gas #NO, (C) S0, Gas o SO, (B) CO, Gas ,<CO, (A)
281. The formula of ozone is: e Ui s 281
CO (D) 0 (©) O3 (B) 02 (A)
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282. Which one of the reasons of global warming?

?a;;gjﬁulfauﬁijg;ﬁ J_E:;J:J}Eﬂ 282

el K215V =8 s (D) ~© (B) (A)
Emission of ultraviolet  txee¥ 26UV Te oy tne et I5AIRIE Tty €57 SaARs L 5i b { et
radiations by the earth Absorption of ultraviolet Absorption of infrared st de

radiations coming from the  radiations coming from the Absorption of infrared
sun sun radiation emitted by the
earth

283. Which gas is called greenhouse gas? ‘?f_duf S u’f Sy 283

HCI (D) N, (C) CO (B) CO, (A)

284. Which one of the following properties of water is a3 :f;,z;:rzi uLg_,f",_,l-n’dJ s ;L,c...,uﬁ? S *;JMLBQL 284
responsible for rising of water in plants? ey

Capillary action **13.4~ (D) Sriesdry % (C)  Surface tension o™ 2 - (B) DEEY [\

Excellent solvent action Specific heat capacity

285, Specific heat capacity of water is: "'.;.Ju'.r (e S L5200 et e JJ'I; 285

2.4J57'K" (D) 4.2KJg 'K (C) 4.2)g5'K" (B) 420K (A)

286. Density of water is maximum at .......... PLL;J’EJLJJ:_.MMJL}L;LIf/JL}J 286

6°C (D) 4°C (C) ¢ B) 0°C (A)

287. The density of water at 4°C is: :;Sﬁﬂjufﬂg¢4ﬂc 287

4 gnt:rrf‘l (D) 3 g+c:r*n‘3 (C) 2 gcm'?' (B) 1 gcrﬂ'3 (A)

288. The freezing point of water at sea level is: :.;.rﬁﬁlgj:iﬁﬁ L}g;;ffj Jx 288

3°C (D) 2°C (0) 1°C (B) 0°C (A)

289. How much percentage of water is drinkable out of all
the water present on Earth?

e ulfl.i'i%.ﬂ?ﬁ:: EVFKL}&EF,;;":} 289

90% (D) 0:2% (C) 2.1% (B) 0.001% (A)
290. Water dissolves non-ionic compound by: e b S e on s L Tordt 1290
L%y (D) PREAMATEN 10 (v #4385 T(B)  lon-ion forces ».977-o/7 (A)

Hydrogen bonding Dipole-dipole forces lon-dipole forces
291. lonic compounds are soluble'in‘water due io: C Ut o0 S YT 201
iy Sk yinJy 3 (D) w70y di5-Je 8 (C) #4Jyd. T (B) L (A)
Dipole-induced dipole forces Dipole-dipole forces lon-dipole forces Hydrogen bonding
292. The HOH bond angle, inwater s: < b f st HOH U2 &y 292
104.8% (D) 104.7° (C) 104.6° (B) 104.5" (A)
293. Temporary hardness is‘because of: f‘r_dn-___.:-u J U ;_.am.y‘ 293
MgSQO4 (D) MgCOs3 (C) CaCOs3 (B) Ca(HCOs3)2 (A)
294. Permanent hardness is removed by adding: ‘?'f;-fi‘%kf;j = Je1 S u’fﬁ;fg:ifl-.a; 294
Quick lime ¢z (D) Lime water&g ¥z (C) Soda lime #ui» (B)  Sodium zeolite wzus¢:s (A)

295. Which one of the following ions does not cause
hardness in water?

?&Jf;:gﬁ_ﬁfu .rl.ur Uy, & J.!,-J"J..Ln-" 295

Na', (D) Fe’’ (C) Mg?* (8) AP (A

296. Which of the following ion is not a cause of water SO s T e 2T 5 20ir 206
hardness?

Na* (D) S0; (C) Mg?* (B) Ca?* (A)
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297. The removal of Mg, and Ca;» ions which are

responsible for the hardness of water is called:
i A2 (D) Water softening &> (C)

Hydrogen bonding

P TIA167 TCa Mg 2 L & kU3 1 20T

Firdei (B)
Temporary hardness

Akl (A)
Permanent hardness

298. Which of the following method is used for removing
temporary water hardness?

Filtration method 2% % # (D)  Sodium zeolite <7153+ (C)

Ce bl Ui 3 pLufd IS SR IINIYy JJ&_ 298

3 ¥ (B)  Clark's method = »¥_i (A)
Washing soda method

299. The chemical used in Clark's method is:

:;LLJT’.{L|F:J_.:?JL’;‘JJ:;J__-/L£JJLE/ 299

Ca(OH), (D) Zeolite Na, (C) Ca-Zeolite (B) Ca(HCO.,), (A) |
300. The types of waterﬁardness are: : Ugfg,gl,-g, SUA A dfﬁl_:, 300
Five &L (D) Four .t (C) Three £ (B) Two 5 (A)
301. Permanent hardness is because of: ?{_Jw___:-,-urf g ey 301
CaCl, (D) NaCl (C) Mg(HCOg) (B) L ——Ca(HCOz)a (A)
302. Temporary hardness of water can be removed by Z.;.Jf' bl el A A1 JL 302
adding:
303. Rapid growth of algae in water bodies is because of %% J:fdlfiuiﬂga-esufdiﬁf S e uf Ure x5 303
detergent having: e
Se6(D)  Sulphate salts L2 (C) L ia S (B) Uitk (A)
Phosphate salts Sl huncackdsalls——— Carbonaiesalis—

304. Depletion of O2 from water is not because of:
;;—é"}r._.fiﬂufuu :’.;,;j;g.' {D) :-ﬁrff;&' Ju”{ujj:r {C]

i L g b

'E'.:_;. Uﬂ:};! L";il.ﬁ L Oy d!; ulj b U‘;L,Jf Ji;iﬂ 304

LH_}"£ ‘J:u”{:,;_rrj;g_l {A)
Decaying of aquatic plants

e Sarduns L (B)
Biodegradation of aquatic

Decomposition of aquatic Rapid growth of aquatic
pramts

I...”C.II Tl

305. Which of the following is an agriculturakinfluent?

?".-.-' 2 ) JZ?.E v L;J!H:. o i OV 305

Fertitizers7#127(D) Betergentso—21C) mmmmﬂrﬁmmmmm
. "i o . Fr e h
306. In water, ......... ions are respensible forthe quick U 837 0l e 20 F T 0L 306
growfh obalgae. 5 - cin2- - - - p3-
08:2%%2- CI,Si0%™ () Br~,CI~ (@) NO;,PO%™
307. The rain water is slightly aeidic it is because: ol e b Sl Q6L 307
NO,.(O) S0, (©) o, (B) ~ S0, (A
308. The industrial effluents, when taken by men, are =L, i (dihue’;ﬁr_fkjwjL._,u@wj,ﬁ@;;,_,e 308
responsible for disease: " X : e
Cholera .=: (D) Pleague w5 (C) Asthma .: (B) Cancer /= (A)
309. Which one of the following disease causes liver e ForbirdFlles ol e sttisne 309
inflammation? S ) o
Hepatitis o~ ¢« (D) Cholera .= (C) Jaundice w6 (B) Typhoid &+ (A
310. Which one of the following disease causes severe ?ng._,“r':,-f:_ﬂ;’m;;.-_‘?.,ﬂr KA S o e s oune 310
diarrhea and can be fatal? ‘
Typhoid ¥t (D) Cholera .=z (C) DysenteryLz:(B)  Jaundice i ¢ (A)
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311. Which one of the following gase is used to destroy
harmful bacteria in water?

Bromine ¢/ (D) Fluorine ¢2:4 (C)

te dedU L L SF hwdsar ey 3N
Chlorine o, (B) lodine o3 (A)

312. Vibrios cholera bacteria causes the disease:

Hepatitis .~ ¢+ (D) Typhoid ¢ (C) Dysentery & (4B k% U U L Zohiérs o
313. The cause of cholera is:
- o , . ‘),
Fungi ¢¢ (D) Bacteria | = (C) Virus o 71; (B) Protozda fﬁﬁﬂ]ﬁ

314. Swimming pools are cleaned by a process called:
Chlorination & .+ (D) Nitration o ' (C)

Hydrogenation =~*&xt ng'—"""“—'kﬁrhﬁm ot 3

315. Cholera is caused by:

Protozoa 1:34:. (D) Fungi d¢ (C)

f"!‘?‘]ﬁ

Bacteria | ~& (B) ’-"-‘aﬂl‘

316. Concentration is a:

—EF_E{ (D) _F &4 (C)

a0 4. J
—F itz (B) Mixing tenhmﬁné’%jﬁ(]ﬁ

Cooling technique Boiling technique Separating technigue
317. Froth flotation process is used to concentrate the ore L.
on: ?ﬁ_t'by/,;,v“bj g A2 3T
nuu_ﬁvﬁ’ (D)  Wetting basis 4::¢ £ (C) BN T 8 {B} Density basis s 5 (A)
Magnetic basis Concentrationbasis

318. Matte is a mixture of:

CuO and Fes?eéjﬁos(]\?

326. In Solvay's process slaked lime is used to:
& £ tNa,CO, (D) L LS e (C)

FeO and CuS CuS.:FeQ {D:l Cu S.sFeS {C] Cu O.sFeO [B}
FeSand Cu S FeGand Cu O
2 2
319. In the bessemerization process:
et Fress» (D) b P 2 M (C) <Lk erey (B) LY f f’:r:» ;{1!8
Molten matte s added Molten matte 1s heatet \olten matte is removed o is heated
: tion of th ' ' t by s, e
320 Cnnc:erjutralmnci the copper ore is carried *DLi . Y | ey /_/( S48 320
Distillation-e= (D) Frothiflstationwii bz i (C) Roasting—&(B)—"C 5
21. Chalco-pyrite is an ore of: , ,,

321. Chalco p}l* _te sai ore 0 ?.:.nru’#f.:ﬁi,,ftf“@ 291
 Aluminium < (D) lron 2T (C) Silver .. (B) i Copper (A}
322. The chemical formula, of.chaleospyrite is: Ui ;_:lﬂufb’_uﬁ ’% 399

FeS<D) CuSC) Cu-EQES-E} QHES-{A}-

323. The underground and other impurities present in TS W, J .
minerals a?e called: " P O IS ool Sudstr S0 2 323
Gompeunassr—B) Gang=e~6) Ores—(B) Metattrgy-c=={tA)
324. ... is called the king of chemicals: L K T e 394
H-RO_—{B) H-50—€) HNO—(B) ’ HEHAT
325. The brown colour of the hairs is due to the presence e s oK udein 325

of .ooooiiit compounds: ‘ ' 5 ‘

Mercary o7 7 (0) Wratybdenum==+{Cj Copper z5 (B) T'riarrrIJTTW""T'(H]‘*:-

et U g w326
A;Lx;btfb{qi (B} é.a.h./rxl&rcﬂ .Pt]

Form EELU3 Recover ammonia

Prepare quick lime Prepare
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327. When I"sl:aHC‘C}3 is heated it forms:
CaO (D) CaCO_(C)

e b detel/ 7/ NaHCOy 327
Ca(OH), B o) N

328. Ammonia is prepared by the process called:

Hyber's process ="+ 4| (D) st (C)
Floatation process

e bl e U 3:“{ Lr:.lfua{%«ﬂj

Hibr’s process ="s, « (B) °
Solvay’s process

329. Formula of urea is:

?:“_LJLJ; sl E",LJJ’ 329

NH CONH (D) MH CDNH (C) NH COONH  (B) "~ NH COON (A

330. l;*ﬁ ﬁét;ﬁzgeen present in urea is used by plants to el S Lgf@i.';uj PrF sz sy 330

DNA DNA (D) Fats . (C) Proteins 7., (B) Sugar /# (A)

331. The quantity of nitrogen in urea is: ” Jvii s FtUtLy 331

46.6% (D) 56.6% (C) 66.6% (B) 76.6% (A)

332. The preparation of urea consists of ......... stages: ,.-*_J A B, Sedy 332

Five &. (D) Four . (C) Three ¢Z-(B) Two » (A)

333. In Haber's process, the catalyst used is: 2 kel s S L 333

Sodium ¢ (D) Cadmium £ % (C) Platindm /¥4.(B) Nickel £ (A)

334. The number of units in Pakistan for the preparation of pr v L Sy ol 334
urea are: T Tt ¥

Ten v (D) Six # (C) Five i}L (B) Four .. (A)

335. The gas prepared by haber process is: ” de,, vl sad s 335

NH, (D) HI {C) SO, (B) CO, (A)

336. Crude oil is heated in the furnace up to: Ce by S e £ AR ST 336

4500C (D) 4000C {C) 3500C (B) 3000C (A)

337. Which one of the following is used as-jet fuel?

Diesel oil J7Jz; (D) Fueloil J7J+ (C)

S Qneidi ez B s e st s 33T
Lubricating oil 7% / (B) Kerosene oil fTes 2 (A)

338. Which one of the following is not'a fraction of
petroleum?

Petrol Js D) Alcohol . #i (C)

Ce o) S Ut piir 338

Diesel oil (FT.)x} Kerosene oil F7.»

339. Which one of the following erganic compound is found
in gasoline?

CaHae (D) Cehlig (C)

T bbb m Jfr’fﬁg_ﬁﬁrﬁfa. Stioia 339

C3Hg (B) CoHy (A).

340. Petroleum fraction having molecular composition C4 -
Cq4 Is called:

Kerosene oil 7.2 (D) Js st (C)

Gasoline or petrol

e 3w Cp-Cyefusd LS L3 s 1 340

Petroleum ether &£, 4 (B) Petroleum gas J“-?l,- ~ (A)

341. Petroleum fraction having molecular composition Cs-

C, is called:
Kerosene oil 7oz s 2 (D) I1(€)
(Gasoline or petrol

= QW CsCreind S A P s 5 B

Petroleum ether 44 % (B) ~ ' Petroleum gas o+ £ x (A)

342. The molecular composition of kerosene oil is:
C43-Cy5 (D) Cig-Cy3 (C)

:,.-:_;;-'%JJ{QLJJT sl 342
Cs-Cq (A)

Cz-Cyy (B)
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343. The carbon composition of diesel oil is:

i’_u#'r:}'fu .-'th,-u |.,_,a|.-"“} 3‘43

C,.-C_0 C.-C.© C -C_ () C-C (A
344, E;};?jleumfractmn whnse composition ISC andC is < 30 Co G rﬁﬁ 63 /Jﬂﬁ a4
Kerosene oil 7.2 # (D) Jsaboded (C)  Petroleum ether %4,  (B) Petroleum gas Vel s % (A)

Gasoline or petrol

345. Which fraction of petroleum is used as fuel in ships
and industries?

Fuel oil J7J: (D) Diesel oil F7Jz; (C)

N N D s Nl u-,-f 345

Petrol Js 5 (B)  Petroleum gas L_,rf‘“ 25 % (A)

346. Which of the following fraction is used as laboratory
solvent?

Fuel oil f7J¥ (D) Petroleum ether 414, = (C)

Ce dn ez S A5 ol e Ll 346

Diesel oil f7Jz5(B)  Kerosene oil JTe2s 2 (A)

347. The molecular composition of gasoline is: LR J;'{?Ld’uijrf 347
C,,-C,. (D) C,.-C.. (C) C,-Cpy BN [ C.-C, (A)
348. The molecular composition of fuel oil is: ;{_u,"rﬁ j,{ / ,_;QLJJTLJ;E 348
Cﬁ'cm (D} Cﬂ'cﬂq {G] Cm'cﬁ (B) C?'Cm (A)

349. The boiling range of gasoline or petrol is:
350 to 400°C (D) 250 to 3500C (C)

e G st 349

170 t0-2500C (B) 80 to 1700C (A)

350. The boiling range of petroleum ether is:

80 - 170°C (D) 20 -170°C (C)

:'_L,.e..'-ﬁ'tf /Eﬁ -4 350

30 - 80°C (B) 170 - 250°C (A)
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Q1.  Write short answers of the following questions.

1.What are irreversible reactions? Give a few
characteristics of them?

Gl | G (gullnet) i) gnd g i

_g{/({/’:rlriﬁﬁyimmfdigiﬁ
S Seor® SIS s

2.Define chemical equilibrium state.

PSR CPRITH

3.Give the characteristics of reversible reaction.

-/ /i Ugékﬂ"? J c}tgl‘{fﬂ_k: Moo

4. How is dynamic equilibrium established?

5.Why at equilibrium state reaction does not stop?

o Ul SEG RN SE S,

6.What is relationship between active mass and rate of
reaction?

2
3
Se bl LfAShEL. 4
5
6

?:“.Jg quf q..‘..;JL c}!‘{ IS8 L}"Ei .

7.Why $${H* + }$$ ions act as Lewis acid?

Cet S Pb b Lo dud T HY 1

8.Name two acids used in the pH of pure water.

.d..'ﬂ I"I:Z-}HFJJLI:LHJ@"' I A {! a1 _.x; . .8

9.Define pH What is the pH of pure water?

fet pH UGy /o 7 pH 9

10.NazS0q4 is a neutral salt while NaHSOj4 is an acid salt,
justify?

) 2-g2 M kL NaHS Ou e /) 242 f.Na2S0s .10
4/

11.Why a salt is neutral, explain with an example?

S eolie Jete by e, A1

12.How can you justify that Pb(OH)N Q5 is a basic salt?

te Lol NPB(OH)NO; St S eolnsl T, 12

13.Which salt is used to prepare plaster of Paris?

?ﬁ-_rlgkf Jea N Udd Lt aiT AL A3

14.What is meant by the term catenation? Give an example
of a compound that displays catenation.

15.What are homocyclic compounds? Give two examples.

Ji‘fyin.ﬂ Lf( Ll Vi s b"clﬁf 6:-‘( P /Lf:.'_.'c)"f Lﬁ{'ﬁl. A4
LS Ue

LS St s Ay, A5

16.What are heterocyclic compounds? Give two examples.

-/ /. .{,_; ULJ bs:?mg}%kf_@#:}ﬁ. 16

17 How is coal formed? e bl kS AT
18.Write classification of coal. .q):;fJ':Ebm’J.fﬂ 18

19.How are alkyl radicals formed? Explain with examples.

LS el S s s LKL . 19

20.Define homologous series.

SNt Sy e S Hra. 20

21.What is an ester group? Write down. the formula of ethyl
acetate.

LS Sur ket St s S . 21

22.Define functional group.with an.example.

-L{I_E}J?:;;P@:.ud’dﬂ'. 22

23 Differentiate between saturated and unsaturated
hydrocarbons.

SO LA E S s 23

24 Why is the alkanes called paraffins?

satdid UL Pam . 24

25.Why are the alkanes used as fuel?

e bl sl s LA A, 25

26.What do you know about hydrogenation of alkenes?

S Tt AL T 1. 26

27 Why alkenes are called ‘olefins™?

tadu Aol A 2

28.How can you identify ethane from ethene?

A ES LS. 28

29.What are the addition reactions? Explain with an
example.

el Je PSR, .29

30.Give the characteristics of monosacecharides.

SIS F o §i1 F 3. 30

31.What is difference between glucose and fructose?

ST L1 mif ¥ 3

32.Describe the uses of carbohydrates.

S e W L KK, 32
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33.Where are the proteins found?

tudedyunidsg. .33

34 Why the ten amino acids are essential for us?

s L astaF . 34

35.How are proteins formed?

?w@éﬁj{. 35

36.How is gelatin obtained?

Setel/ ) b %, 36

37.Give the general formula of the lipids.

v 26080, 3T

38.What do you mean by genetic code of life?

f ol T UIT3S 6, 38

39.What is the function of DNA?

/27 ¥ DNA .39

40.How you justify RNA works like a messenger?

St/ Kb LA RNASBE S eolosl T, 40

41 Differentiate between primary and secondary air
pollutants.

L B S A Lin. M

42 .State the major sources of CO and CO2 emission.

,u."ﬁ 7w ALYAHL CO25CO 42

43.1f there was no COz in the air, could we survive?

8& Eunsififidns CO2 Lin . 43

44 Point out two serious effects of ozone depletion.

-u.ff w5¢|ﬁlﬁ!£iu£u;j,i. 44

45.How ozone layer forms in stratosphere?

S Bl Aot Pk . 45

46.How is ozone layer being depleted by
chlorofluorocarbons?

P ulﬁa_ff 7 i L'J:.FJI:..}":JKJ:G:JJK. 46

47 Why non-polar compounds are insoluble in water?

L UL S s iy, AT

48.How water dissolves sugar and alcohol?

'iu::L.wd' u:{d' :ﬂ;#l)’ﬁgt{:;k A48

49 Differentiate between soft and hard water?

..L{f Sl Ju A Al s, 49

50 What are the causes of hardness in water?

Sl AL A3 . 50

51.What is difference between biodegradable and non-
biodegradable substances?

te I LIIL S B i S B2 51

52.How detergents make the water unfit for the aquatic life?

turl bl d LTSRS WP . 52

53.How is roasting carried out?

Tﬁ'-‘-é"'d/b) U/ L. 53

54 What are the advantages of Solvay’s process?

SIS LT sy I 54

55.What is the principle of Solvay's prog€ss?

T.;.L)U.r"l KU~ 34l 3D

56.How is ammonia prepared for the synthesis of urea?

te bbb Serd LSkl 56

57.Describe the formation of petroleum:

te BUAV s 4. 5T

58.Give a use of kerosene oil.

S/ e L ST 58

59.Describe the difference between diesel oil and fuel oil.

SIS TS STIz3. 59

60.What is the difference between crude oil and residual

e S LS Tghr ST/

oil?
OY | gw Lo

Q2.  Write short answers of the following questions.

1.What is the difference between reactants and products? Give
example.

* * i |

Juodn (245 pd

2.Define forward and reverse reactions. &/ TP STt 2
3.Write any two macroscopic characteristics of forward reactions. ", f4f #&'Y“; _g;., Fusdf S u-,»g', Sk 3
4 Write two possibilities of chemical equilibrium state. -ufff JJ#HJ:JhJﬁ /.Jd#/l JE 4
5.Describe any two macroscopic characteristics of dynamic ", SeS1$ _g:,’ Fousd flfﬁ o L 5

equilibrium.

6.How atmospheric gases are used to prepare chemicals?

tpdnind Lo A e b 6

7.What is meant by limit of a reaction?

P f],,-"a-_'..ud’ cJﬂ: g, .7
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8.Why reversible reactions do not reach to completion?

e Ul EJE AT 1y 8

9.What is meant by active mass? Write its unit.

LI LS e p e\ 9

10.Define law of mass action.

NS Y NG T IR

11.What is meant by equilibrium constant?

Tl e s A0 [-': /,JUJEI 1

12.Nitrogen and hydrogen combine to form ammonia. Write
equilibrium expression for this reaction.

P AR L LISt S S Pt P ft. A2
7

13.Predict the extent of the reaction when the numerical value of
Kc is small.

-5&9“ U Jyd\’ uﬂ: ld;LlJ.éﬂj.:jG:f d/ Ke .13

14.Define Arrhenius concept of acids and bases.

SIS L it AL wiiky A4

15.Write the limitations of Arrhenius concept.

..Q’f ;:Jk.u.lrd’ 4,./9" Zoin A5

16.Define lewis concept of acids and bases. Give example of
each.

DSl S i P Lo nsiy L 16

17.How BF; acts as lewis base?

et /P UL AU BR AT

18.Write the names of two mineral acids.

.‘,!‘.thf..iidd}'n 18

19.Write neutralization reaction. Give example.

DL I 19

20.Write the uses of nitric acid.

Lt L iaSFe 20

21.Write the uses of sulphuric acid.

W L LS 21

22 \Write the uses of acetic acid.

S el LY 22

23.Write down two uses of magnesium hydroxide.

.Q:J e 19 LA UT:J.&"L(E'*:? 23

24 Define base. And explain that all alkalis are bases but all
bases are not alkalis.

B (S s e Sy S e S s P S 24

25.Define hyperacidity.

LIS 25

26.Write two preventions from hyperacidity.

ol aidiniisae G404, 26

27.Define acid rain.

Sl Sk, 2T

28.What is meant by conjugate acid and conjugate base? Explain
with the help of an example.

Lol St p et e T A e SEY 28

29.What is meant by amphoteric compounds? Explain-that watef
is an amphoteric compound.

ISR LIS Ser st ol P SIS 2 0 29

30.Write two differences between acids and bases.

.u:'d G/l nd % ity 30

31.What is the difference between Arrhenius base and lowry
bronsted base?

S GV LS s aadml s Uan 31

32.What is meant by pH? Write down-he uses of pH.

S f et L pH Ses S pH .32

33.What is meant by indicator? Explairwith-examples.

-é.:—?ﬂ:a.uﬂfﬁ-_;l e }_-L-’ X .33

34.Define normal salts. And.give example.

Loy S PSS a 34

35.Write down two uses. of'salts.

_gﬁj #Ub“"luﬁuﬂ - .35

36.Differentiate between basic salts and acidic salts.

LS RAA T Al 36

37.Write down two uses of calcium sulphate.

_ui'o. e U1 ﬁ.iel"'(:y 37

38.What is meant by water of crystallization?

Sl e or e ST 38

39.Write down the chemical formula of gypsum.

Sy kil 39

40.Write down the formula of potash alum and ferric alum.

el urﬁ.{ZHilJ ,é.utH'-JJEg. 40

41.Write down two uses of sodium carbonate.

S et L s K. A

42 .What is condensed formula? Give example.

LSt VU 252 42

43.How carbon completes its-octet and why it does so?

f+aff5)uﬂslu£f¢:_ﬂ;.|¢;;ﬁ 43

44 .Define structural formula. Write the structural formula of n-
butane and iso butane and give example.

S ue KL KL ATt =0y Sy P S B A . 44
.q;jdtﬁ-uf

45.Define closed chain compounds. And also give an example.

“EodeLing S P kS snk, 45
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46.Define open chain or acyclic compounds. _L{f_g}&hkf_@bf_lkuﬁwr. 46
47.What is meant by homo cyclic compounds? PP ;,Jkigf Ay, 4T
48 Differentiate between coal tar and coke. JINTp RS ke JS. 48
49 What is coal gas? Write its use. LSl AU 49
50.What s destructive distillation? S V3 s 50
51.Wrote down the two conditions for catenation. LS P d LSE, 51
52 What is meant by vital force theory? Sl e $ss? Jd f . 52
53.What is the difference between aeromatic and alicyclic S J L ;ﬁk{b@.@&w,&, 4. .53
compounds?

54.Describe the modern definition of organic chemistry. _qfwij,jg;-[_,ciﬁf, 54
29.How a sniffing dog can recognize the person’s smell? Tq-ﬂ.uﬂﬁb)u/fftfwfaﬂiWhgr. 55
56.Write the names of different types of coal. _u:"(ru,-ﬁrmﬁ& rf 56
57.What is the importance of natural gas? ?q_gmﬁlJﬁﬁ;ﬁ. T
58.Define anthracite. Write its one use. .,._;r:"'I dﬁl.{b’wmqﬂ.& Y u(.:.fH/"'.'-r. 08
59.Write down two uses of organic compounds. _u:" .;-.,ﬂl.-'Hu,f_".j,i:ikf._(‘&cf . .59
60.Write down the use of organic compounds as medicine. LI LA\ T 0p L. 60
61.What are alkyl radicals? Write general formula and give ﬂ{fjﬂr;ﬁdﬁfa:dﬁ'fwgﬂ«éafﬁf- 61

example.

62.Explain different radicals of butane. Sl L L Ay 62
ES.Deﬂlgz functional group of alcohols. And explain alcohols with {f#uﬂjﬁ,ﬂ]‘_wﬁ.ﬂ,_ﬁf_&;}{w}ﬂ5;}-»,0}, 63
Ef‘l::f.ﬁat ifl.; meant by ester linkage? Write general formula. _ﬂ“ﬁgdﬂfﬁ._jfgcﬁfﬁ,_ 64
65.Define isomers. Write the isomers of pentane. _u;-‘f y f,ff;:uf‘:’-u,p_gf_g j,{; 77, .65
66.What is meant by bromine water test? Yol et Mok, .66
67.What are hydrocarbons? Give two examples. _q;dﬁm?wy’ KUK 6T
68.What do you know about hydrogenation of alkanes”? Tl 'T'T*-""—-'lrﬁ“}ﬁ ”ﬂ‘!?-;(' . .68
69.What is meant by exchange reaction? Give an example. JeLis ol xl-:’lz-lf'g'd KL s, 69
70.Write down the uses of chloroform and carbontetrachloride. -bc_-‘f_._,m,;,, L 32080 2 n o (o3 570
71.Write down the two uses of methane: _,u:'g.,;-_,m.#méﬁ. 11
72.Write down two characteristics of homologous series. _u:'d,_._,k,,ﬂ' wly e Prn. 12
73.What is hydrogenation? Give example. Lt J‘ﬁfyﬂ. 73
?ﬁqll]l?-; ;I:QEE are prepared from.dehydro halogenations of ¢ q-G A 4’[_4 LJf:’." o ,ﬂde _;,jru‘.:f,_fm, 74
?’5.{'5."@ alkenes are reactve? st 6. 75
76.Write down some uses of ethene. I ey L L5 76
77.What is meant by alkenes? Write their general formula. Jﬂfﬁdﬂfcjﬁﬁ-_ﬂfy/;ﬁ!f. T7
78.Write the chemical and structural formula of benzene. _‘ﬂﬂfjﬁd/{’#;jl(jk{rw. .78
79.What are unsaturated hydrocarbons? tt Ll A\ R el 79
80.What is the difference between glycol and glyoxal? ?.l;g"}!rfu:td‘(f&fmdfdﬁ 80
81.What is the difference between alkanes and alkynes? f‘%hjjk(uc;;’gim;ﬁfﬁ, 81
82.Write down four characteristics of alkynes. J /S u&,@yﬁ&t}’ . .82
83.Write down two uses of acetylene. _L;_-J_._._,umﬂﬁ. o I, 83
84.Define monosaccharides. JIwfSnkir. 84
85.Write down the characteristics of oligosaccharides. el S48y, 85
86.What are polysaccharides? Give examples. Y N LﬁprﬂLﬂgg| ﬁ,_;;, 86
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87.Describe the use of dextrose in drips.

LS R A5, 8T

88.Write the structural formula of glucose and fructose.

L )L K335 mid ¥, 88

89.What is meant by triglycerides? Give their examples and write
their general formulas.

Jufurﬁdﬁfgjrﬁq;dﬁg!uifq.ﬂfk"aiff/ﬁ')- .89

90.What are the sources of carbohydrates?

t ghif.{,&.rﬂ.ﬂﬂ- .90

91.Write the difference between essential and non-essential
amino acids.

LB it Fu st Eu S, 91

92.Define proteins and write their basic units.

.gfﬂ rl:b’u” ;jd:kl-ﬂwmﬁ_ﬂ /7 S 94, .92

93.What are lipids? Give their examples.

LSSt Ly, 93

94 .Describe hydrogenation of vegetable oil.

LTSS TS, 94

95.What is the difference between oils and fats?

S SIS LZAFT. 95

96.Write the sources and uses of lipids.

.qu e W6 1sl 2 s L340, 96

97.Why RNA is called messenger?

tetif U7 RNA .97

98.What are nucleic acids? Write the constituents of nucleotides.

DL e e gl mfiia ¥y, 98

99.Explain fat soluble and water soluble vitamins.

U =l }*H:J“"rﬂ:ﬂi J-'""’r:.*.-j 99

100.Write the sources and use of water soluble vitamins. Also
write symptoms of their deficiency.

-Q’f .(,/'" ._-.,Ll,k(ﬂ{ J el ;ﬂmﬂﬁ"l:}ﬁfﬁ )-‘"E.i(,k"',r‘ﬂs.,"l 00

101.What is the difference between atmosphere and
environment?

I e AN 8,101

102.Write down the composition of dry air.

_;):":‘r gﬁ‘-'j,-,fgﬁm.éf.ﬂﬂ

103.Write down the uses of nitrogen and oxygen.

LI WAL S Tl . 103

104.1f CO2 is not present in the air, can we live?

& £ riifiIdn: CO; 1 )1.104

105.What is troposphere? Write down two characteristics.

S P S 02,105

106.How temperature of atmosphere is maintained?

S b} UAS A KA. 106

107.What is meant by air pollutant? Give two examples.

108.What are primary and secondary pollutants? Write difference
between them.

st e Y e astdy Lin. 07

M) ‘,twmi?,,fuu-"f LSS A14.108

109.Why CO is considered hazardous for health?

fetbl Ui pd Lo/ .CO 109

110.What is meant by air pollutants?

P f],;(a.gfj"f dyLin. 110

111.What is meant by incineration?

teit e e 1111

112.What is meant by greenhouse effect? Sl plf et s S 112
113.Write down two effects of global warming: J ,(Q;_._,. il By £ 113

114.Write down two effects of.acid'rain.

L M S L k2.114

115.How acid rain is produced?

116.Why acid rain damages buildings?

te 3 Ul Ui s2a.116

117 .How aquatic life is affected by acid rain?

te ot L elo eyt 1T

118.Why CO; is called greenhouse gas?

te O UL U Usie /€O, 118

119.Define ozone and ozone hole.

S PSS msisiishgain. 119

120.What is meant by ozone hole?

Tﬁ-__:.l fga.d.lﬁ.:!.l}:f.. 120

121.Write down four characteristics of water.

LS pshor® Ao 121

122.How water rises in plants?

PR Y l,f'/aguf.' Uny. 122

123.Explain how ionic compounds dissolve in water?

L LAY LTS Y S eol5.123

124 Water is a universal solvent. Explain.

LS eobrg wndr L. 124

125.Write down the causes of water hardness.

st et UE 4,125

126.How washing soda softens water?

te b/ iy {8y B, 126

127 .How sodium zeolite softens water?

et Sl L e sigifsy 121
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128.What is meant by boiler scales? How can they be removed?

Tq.ﬂ';t;y’a_?’ VLY =M 19,128

129.Write down two disadvantages of temporary hard water.

S T L IshS LA 129

130.Why pesticides are used?

b LU 4 %.130

131.Describe the effects of industrial effluents.

Sl B 2 31.131

132.Describe the effects of water pollution.

St N Sy .132

133.What is meant by leaching process?

e e Uyl 133

134 How pesticides can cause water pollution?

G WSy el s . 134

135.What is the difference between biodegradeable and non
biodegradeable substances?

T O AL B i fers S0, 135

136.Describe the chemistry of swimming pool cleanliness.

LS AU g F7 136

137.What is meant by hepatitis?

el e b 137

138.Write the names of four water borne diseases.

_.,:J rb«‘:.u.fﬁﬁ.rlgu' :jfdljﬁ_ﬂlﬁ.:.,;:dﬁk.. 138

139.What is the cause of cholera? Why is it fatal?

Sl U o niS e\ onf 2,139

140.What is jaundice? Write down its symptoms.

Ll F AL S . 140

141.Write about cryptosporidium.

L LA phom 5/ 141

142 What is meant by fluorosis?

S e U 1sh. 142

143.What is meant by metallurgy?

Tl fk(ﬁ-l,;)"’: 143

144 Write the names and formulae of two copper ores.

.L,tj Lfﬁﬁu.ﬂ;:lr‘bf.;::f,‘rﬂ.. 144

145.Write down the difference between minerals and ores.

LS NG Lsasl i) 2. 145

146.Define gang.

LS L A46

147 What is the difference between slag and matte?

S G Lt fo AT

148.Explain the concentration of ores.

S eolonS 2 Sl 148

149 What is gravity separation?

150.What is meant by froth floatation?

Sl e/ 149

Sesl e P 215,150

151.What is meant by electromagnetic separation?

Seil AW a2 g b 21,151

152 What is meant by roasting? Write its chemical reaction with
respect to copper metal.

I SN Lis L et p e sy 152

153.What is meant by bessemerization process?

Tl e :.;cﬁ:r"l' 5"*': 153

154 What is meant by anode mud and blister'copper?

P il _,fk(;.{,rj'J.' »143521..154

155.Write down the role of techrology in‘the preparation of
common chemicals.

LS SEENE LA S . 155

156.What is meant by calcinatians?

teit i e E X156

157.Draw the flow chart.diagramof Solvay's process for the
preparation of sodium carbanaie.

..;fh:r'i&lidfﬁ d/ g~ 14%4. «E:Lhd-f.!f.rrr-':if..‘i o7

158.How CO2 is prepared in Solvay's process?

teded el COz AU 14158

159.Write the preparation of ammonia in Solvay’s process.

sk Seras” e M. 159

160.Describe the method of granulation of urea.

LS H 52 S8y, 160

161.What is meant by natural fertilizer?

Sel e sF ) d..45..161

162.Write down two uses of urea.

_U:,B’ =1L 4y, 162

163.What is meant by refining of petroleum?

fest e Bl 4.163

164.Write down two uses of petroleum ether.

_ﬂmﬂbﬁniﬁr&:ﬁ.. 164

165.Write down the uses of diesel oil.

I 0 L FT 73,165

166.Write the uses of gasaline.

2 e L p 166

167.Which petroleum fractionis not used in dry cleaning?

23 IE 3 s of LK 13,167

168.Write down two uses of petroleum gas.

I L A s . 168
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169.Write down two uses of fuel oil.

_.u:'ﬁ :—HWIMZ.JETJQ.. 169

Q3.  Wnite detailed answers of the fullnwil{g
questions.

_L{f{f“.:slglﬂﬂ;ﬁ.i.:rﬂlfdiejﬂ

1.What is meant by reversible reaction? Write their s Jo L S Meedor® S8 o e A s A
characteristics. Explain reversible reactions with the help of an N
example. ..{,{./r @-&L}:Jﬁ"—qd;
2. Write the macroscopic characteristics of forward and reverse oo SIS0 LS Seker® ‘_{,ﬁ-, Y AR .
reactions. What is the difference between forward and reverse ) .
reaction? LIt
3.State law of mass action. Also derive equilibrium constant 2 sk L8 Ry, Sk EInSTy. 3
expression for the given chemical reaction.A + B & € + D A+ B = C J: Ds/, P
= _.H'.l b g =|
4.Explain that how can we predict the direction of any reaction bS8 B erS1g W ek Wt SIS S eolss, A
from the value of equilibrium constant? - ’
f< 3
5.Describe Arrhenius concept of acids and bases and explain o f 1S erlos @ Sy s S o BK A 500602500, 5
with examples. Also write the limitations of this concept. N
-L{fu&t&.ﬂjr
6.Describe Lowry-Bronsted concept of acids and bases and LS o IS N B 50820509, 6
explain with the help of examples. y B
7.What is meant by conjugate acid and conjugate base? Explain !/s?L;_,,J;.i,,,:_qfé'r,;,u,lt'.‘-?q_.:!fy'.:.w-*d?i’mi—'id-cffh’- N
with examples. Write the limitation of Lowry-Bronsted concept. X
-L,L‘fc&u:.uJ
8.What is meant by neutralization reaction? Explain with the help -L{faﬂﬁ::-uﬁfq-ﬁfy'z-w*ﬁdmaﬂk}f- 8
of examples.
9.Write the names of naturally occurring acids and also write their S Ay Ly ::lui'grt' Litdigdnd oz 4_,_,1.3 A9
SOUrCes.
10.What is meant by indicators? Explain with examples. Szl e UMS e pW i k. 10
1.Write down the methods of preparation of alkanes. _ LS NI IL S S, A
2.Describe substitution reaction. Explain it with the help of S eolnlUie ;-c“urcf'-*'-‘? - j%dtf.ﬁ‘,c;g&r-:’, 12
halogenation of alkane. ) )
3.Write the uses of methane and ethane. el L g 13
4.Define hydrocarbons. Write down two methods of the 7D ‘gw(ﬁ;‘,ﬁ] S PSRk 14
preparation of alkanes. 3 )
5.Write down the uses of ethene. LS e L'.g,z,'ﬁl 15
6.Explain different methods of the preparation of-alkynes. S eolsSup p B LS SF 6. 16
7.Write down the chemical reactions of alkynes. LINAEEELL . AT
8.Describe the classificationof carbohydrates. Give examples. - 2ol iy fu&ﬁg/ AL TV AL
9.Define carbohydrates. ‘Also explain'monosaccharides. Sl Fivie g Sy PSSk 19
10.What are polysaccharids? Give any two examples and write J@hr"’&:}uﬂu _,dc,uué,@wk(ﬁl /"l-gi- 20
their properties. ) ) -
11.What are proteins? Write their chemical structures. In which ?LEJHJLJU:E@{ ﬁfﬁ,_g_:jbéwd’uﬂ?wd‘ﬂwg% 21
compounds they are present? - ,,.- )
12.What are nucleic acids? Write the components and types of -L{fdrtirﬁltfuﬂsslﬂmﬁiﬁlﬁf"w&-ﬂlﬁﬂlﬂf 22
nucleic acids. S S
13.Write the functions of RNA. What is the similarity between the e dlbrlf i L1 T sl tefIS8 S F JHZRNA 23
functions of DNA and RNA? - )
14.Write the detail of commercial importance and uses of _._,:JH St tes iS4, 24
enzymes. i '
19.Describe the sources and uses of vitamins A and D. S st 70 £ D ot A 2k, 25
16.Explain fat soluble vitamins. Describe the importance of LS et sy jyuﬂ;}phﬁf 23 26
vitamins. 5 i
1.What is meant by soft and hard water? Write the causes of S eF Az AN e Ve by, 27
water hardness. 4
2.Describe the types of water hardness. - jt)‘;ﬂ(ultﬂf'ﬂ/': Xy, 28
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3.Explain the methods of removing permanent water hardness. -u:f:#ﬁ:JuE)ﬁLﬁufuéM#:HL@k. 29
4.Explain that domestic effluents used water is also a cause of KPS BBt S Seolss. 30
water pollution. i ¥ -

9.What is meant by metallurgy? Explain terms related to Jfa.au;JfﬁJ“’;uﬂ:ﬁﬁ:?@w’;&)&. 31
metallurgical process. i i

6.Explain briefly froth floatation process. e kUi SES . 32
7.What is meant by smelting? Explain with reference to smelting S eols§ U Nl LS ol e L. 33
process of copper metal, )

8.Define bessemerization. Explain with reference to LS e b LS NS P S Fon 7 34
bessemerization of copper metal. ¥

9.How sodium carbonate Na2CO; is prepared from Solvay's Yo bl A 2 Na,CO; Lol Mty e S s, 35
process? ) -

10.What are fertilizers? What is the difference between natural J-fﬁqu#usﬁ-dfwkﬁﬁJJJFH’}JF’::JJJ%-P’JF!E)- 36
and artificial fertilizer? Also explain that natural fertilizer is better )

than artificial fertilizer. .y TP fag 2]

11.What is meant by fractional distillation? Describe fractional —wakc;':?3ﬂ,j$ﬁﬁ?+ﬂfg=-ﬁ5d’£}- 37
distillation of petroleum. )

12.Write down the names, composition, boiling range and uses of -L{/"J-'-'-UF‘MF@Juﬁ"l#w‘*iﬁ:ﬂﬁﬁfﬁl&:ﬁ- 38

important fractions of petroleum.
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